MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901 FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Permasteelisa North America, Corp.

7933 N.W. 71* Street

Miami, FL 33166

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHIJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Division that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “UM CW?” Structural Glazed Aluminum Curtain Wall System — L. M. I.
APPROVAL DOCUMENT: Drawing No. PA-UM-LM-07-350, titled “UM CW System Large Missile
Preglazed & Unitized”, sheets 1 through 34 of 34, dated 05/20/05, with revision #1 dated 6/26/09, prepared
by manufacturer, signed and sealed by Conrado S. Casem, P.E., bearing the Miami-Dade County Product
Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade
County Product Control Division.

MISSILE IMPACT RATING: Large Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA # 05-0308.01 and consists of this page 1 and evidence pages E-1 and
E-2, as well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

ﬁ NOA No. 09-0714.01
MIAMI-DADE COUNTY Expiration Date: July 07, 2015
Approval Date: November 11, 2009

Page 1



Permasteelisa North America Corp.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1.
2.

Manufacturer's die drawings and sections.

Drawing No PA-UM-LM-07-350, Sheets 1 through 34 of 34, titled “UM CW System
Large Missile Preglazed & Unitized”, dated 05/20/05 with revision, #1 dated
05/26/09, prepared by manufacturer, signed and sealed by Conrado S. Casem, P.E.

B. TESTS

1.

Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Construction Research Laboratory, Inc., Test Report No.
CRL-7007B, dated 10/18-21/04 and 11/08/04, signed and sealed by
Nariman S Balsara, P.E. (Submitted under previous NOA#05-0308.01)
Test reports on: 1) Small Missile Impact Test per FBC, TAS 201-94

2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1415, (Mock-up #CRB-MU-5) dated 11/11/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0308.01)
Test reports on: 1) Small Missile Impact Test per FBC, TAS 201-94

2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1416, (Mock-up #CRB-MU-4) dated 11/17/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0308.01)
Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94

2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1417, (Mock-up #CRB-MU-2) dated 11/29/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0308.01)
Test reports on: 1) Large Missile Impact Test per FBC, TAS 201-94

2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum curtain wall
system, prepared by Hurricane Engineering & Testing Inc., Test Report No.
HETI-04-1418, (Mock-up #CRB-MU-3) dated 12/13/04, signed and sealed by
Ivonne A. Ghia, P.E. (Submitted under previous NOA#05-0308.01)

Product Control Examiner
NOA No 05-0308.01
Expiration Date: July 07, 2010
Approval Date: July 07, 2005



Permasteelisa North America Corp.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS

1.

Anchor verification calculations and structural analysis, complying with FBC-2007,
prepared by manufacturer, dated 07/09/09, signed and sealed by Conrado S. Casem,
P.E.

Complies with ASTM E1300-98/04

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 08-0520.08 issued to Solutia Inc. for their “Vanceva
Composites Glass Interlayer” dated 7/17/08, expiring on 12/11/13.

F. STATEMENTS

1. Statement letter of conformance with the current FBC 2007, dated July 9, 2009, signed
and sealed by Conrado Casem, P.E.

2. Statement letter of conformance, dated March 7, 2005, signed and sealed by Conrado
Casem, P.E.

3. Statement letter of no financial interest, dated March 7, 2005, signed and sealed by
Conrado Casem, P.E.

4. Articles of Merger of Permasteelisa CS Corp. and Glassalum Erectors, Inc. into
Permasteelisa North America Corp., dated February 29, 2008, signed by Mr. Alan
Paperny and Mr. Michael Budd.

G. OTHERS
1. Notice of Acceptance No. 05-0308.01, issued to Glassalum International Corporation

for their Series “UM CW?” Structurally Glazed Aluminum Curtain Wall System —
L.M.L, approved on 07/07/05 and expiring on 07/07/10.

Manuel Perez, P.
Product Control Exgminer
NOA No. 09-0714-

Expiration Date: July 07, 2015
Approval Date: November 11, 2009



UM CW SYSTEM

LARGE MISSILE ® STRUCTURAL GLAZED & UNITIZED

INDEX OF DRAWINGS

SHEET NO.
1

2

384

586

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34

74 !
PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS

DESCRIPTION

COVER SHEET
GENERAL NOTES

ALUMINUM EXTRUSION INFORMATION

GENERAL (GASKET & FASTENERS) INFORMATION

WALL SECTIONS

SCHEMATIC BLDG SECTION & SPECIAL SECTIONS

DESIGN PRESSURE RATING / MAXIMUM FRAME SIZE TABLE

DESIGN PRESSURE RATING / MAXIMUM GLAZING SIZES TESTED TABLE
HORIZONTAL STACK JOINT DETAILS

STACK JOINT ANALYSIS

INTERMEDIATE HORIZONTAL DETAILS

TYPICAL 3" VERTICAL MULLION DETAILS

TYPICAL 3 1/2" VERTICAL MULLION DETAILS

TYPICAL 90° OUTSIDE CORNER MULLION DETAILS

TYPICAL 90° INSIDE CORNER DETAILS

TYPICAL ANCHOR SECTION ON CONCRETE DETAIL

TYPICAL ANCHOR SECTION ON STEEL DETAIL

TYPICAL ANCHOR PLAN DETAIL @ 3" MULLION

TYPICAL ANCHOR PLAN DETAIL @ 3 1/2" MULLION

TYPICAL ANCHOR PLAN DETAIL @ 90° O.S. CORNER

SPECIAL "BRIDGE" ANCHOR SECTION DETAIL @ 90° O.S. CORNER FRAME
TYPICAL ANCHOR PLAN DETAIL @ 90° .S. CORNER

TYPICAL MULLION WINDLOAD BRACING DETAIL

PLAN DETAIL @ SPECIAL VERTICAL PROTRUDED FEATURE

SECTION DETAILS @ SPECIAL VERTICAL PROTRUDED FEATURE

PLAN ANCHOR DETAILS @ SPECIAL VERTICAL PROTRUDED FEATURE
SPECIAL INTERMEDIATE HORIZONTAL DETAIL WITH SUN SHADE FEATURE
MULLION JAMB DETAIL

TYPICAL STARTER SILL DETAIL

CW STARTER DETAIL WITH SUB-SILL
CW TYPICAL COPING DETAIL
DETAIL @ TOP ANCHOR TO UNDERSIDE OF SLAB

7 |7 7 T N [N N IS o7 s

062609 CHANGE COMPANY NAME AG

2
s

DATE NOTES BY

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:
PRODUCT REVISED

#3 eomplying with the Floridy
Buiiding Code

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/0//034

DRAWING NO.: PA-UM-LM-07-350

DATE: 05/20/2005 [SHEET: 01 OF 34




UM CW SYSTEM

LARGE MISSILE e STRUCTURAL GLAZED & UNITIZED

GENERAL NOTES

DESIGN PARAMETERS

COMPLIANCE OF THE FOLLOWING REQUIREMENTS:

FLORIDA BUILDING CODE (HVHZ)

TAS-201 - LARGE & SMALL MISSILE IMPACT

TAS-202 - AIR LEAKAGE, WATER PENETRATION & STRUCTURAL PERFORMANCE
TAS-203 - CYCLING

ASTM STANDARDS

E283 — AIR INFILTRATION

E330 - STRUCTURAL PERFORMANCE

E331 - WATER PENETRATION

E1886 LEVEL "D" — IMPACT BY “MISSILE” AND CYCLIC PRESSURES
E1996 —- IMPACT BY WINDBORNE DEBRIS

SYSTEM DIMENSIONS

OVERALL DEPTH = 7" (TO F.O. GLASS) & 8" TO F.O. METAL CAP
3" WIDE MULLION

3 ¥ WIDE MULLION

GLASS
SEE SHEET NO. 10

FINISHES

EXPOSED AREA: ON A PER JOB BASIS

NON EXPOSED AREA: MILL FINISH, EXCEPT FOR:

STRUCTRURAL SILICONE SUBSTRATE: ALODINE CONVERSION COATING
ALUMINUM IN CONTACT WITH DISSIMILAR MATERIALS SHALL BE PROTECTED PER
FLORIDA BUILDING CODE, SECTION 2003.8.4

ALUMINUM ALLOY
EXTRUSIONS: 6063-T5, 6063-T6, 6105-T5 (OR 6005-T5 OR 6061-T6), SEE SHT.3 & 4
ALUMINUM PANEL: 3003 H14

STEEL
ALL STEEL REINFORCEMENT, STRUCTURAL SHAPES, PLATES, ECT. SHALL BE PER
ASTM-36, UNO. PRIME PAINTED (HOT DIP GALVANIZED PER JOB SPECS.)

WELDING
CURRENT ASTM STANDARDS E70-XX ELECTRODES, UNO.

FASTENERS

FASTENERS TO BE CORROSION RESISTANT AS DETAILED AND TO CONFORM TO
FLORIDA BLDG. CODE, SEE LIST ON SHEET NO.5 & 6.

ALL FASTENERS BEING USED IN A STRUCTURAL APPLICATION SHALL BE
DETERMINED / VERIFIED BY STRUCTURAL CALCULATIONS.

SEALANTS

STRUCTURAL SILICONE — DOW CORNING 983 (TWO PART); RE-GLAZING — DC 995
FRAME ASSEMBLY SEALS — DOW CORNING 795

EXPOSED WHEATHER SEALS — DOW CORNING 795

SILICONE COLOR IS ON A PER JOB BASIS.

GASKETS AND WEATHER STRIP
SILICONE RUBBER, NEOPRENE, OR EPDM
SEE DESCRIPTIONS ON SHEET NO.5
COLOR IS ON A PER JOB BASIS.

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

7 N 7 N N I I IS 8

082608 CHANGE COMPANY NAME AG

DATE NOTES BY

2
=

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PABBUCT REVISID
88 eonapdying with the Fleridy
Beddling Cods

Erpeae: e DL 15

B8l Pade Produet Contral
¥vist

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

&7/6//&9

IDRAWINGNO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 02 OF 34




ALUMINUM EXTRUSION INFORMATION

T-ngr'ﬂ’aﬁ | Lo 9% 8.260
1.810 5.440 ‘] f—lAabo—T—[OAaO
] ) 2.908 3.000 1815
W 3.674 J 1499 : =
- 540 1 —tosas PERMASTEELISA
J UM202 UM203 UM 204 UMS501 NORTH AMERICA
PRESSURE PLATE ALUM.COVER TYP. TOP ADAPTOR AT ST.IT.. ADJUSTABLE OUTRIGGER
ALLOY:€063-T6 ALLOY:6063-T6 ALLOY:6063-T6 AUOY:E105-TS
TYP WAL THRS:. 1 25 TYP WALL THKS:.062 TYP WALL THKS:.080 TYP WALL THKS: .558 o
) 7933 N.W, 71st Street; Miami, FL 33166
UMOQOI {1300 0:430 Phone (305) 592-1212  Fax (305) 599-1342
BTTM TRANSOM UMIOI UM102 1575 >
ALLOY:6063.TC 3* MALE MULL TYP 3* FEMALE MULL TYP. — UM50
TYP WALL THKS:. 1 25 ALLOY:6063-T6 ALLOY:6063-T6 2.282 2.908 2497 2.632 1.499 LOCK BLOCK
TYP WALL THKS:. 1 25 TYP WALL THKS:, 1 25 : ALLOY:6105-T5
TYP WALL THKS:.1 64
‘[l.oezT—y.axa—T 1313 o.ssal—l
2.480 2.865 1.697
UM207 UM208 UM210 UM2 | 4 REVISIONS
VERT.REVEAL TYP. PRESSURE PLATE AT STT. VERT.PRESSURE PL ADAFTOR TOP ADAPTOR AT ST.JT..
ALLOY:6063-T6 ALLOY:6063-T6 ALLOY:6063-T6 ALLOY:6063-T6
3.874 TYP WALL THKS:.062 TYP WALL THKS:. 1 25 TYP WALL THKS:. 1 25 TYP WALL THKS:.080 UM503 B
a.ce7 3.409  FRAME HOOK SLIDER 3
2.250
£.060 0.969 ALLOY:6 1 05-T5 )
r 6.060 / T ﬁ TYP WALL THKS: .394 S
B
T m hees v 3.000 2.000 &9 1.500
l_ 1.774 >
P
| | J b—27s0
5.440 ) 896 — S
UMOO2 = | UMIOF— UM2 (6 Um217 UM301
UMI 03 VERT PRESSURE PLATE ADAFTOR \)- VERT.COVER @ UMZ201 TR TYPAT ST —l 2
TOP TRANSOM \ . 3' FEMALE MULL@ | O" VERT.FEATURE @90 05 CORNER 1.175 90 05 CORNER INTERM.HORZ. INTERICR e UmMs04 D[ oeasos CHANGE GOMPANY NAME AG
3* MALE MULL@ | O VERT.FEATURE ALLOY:6063-T6 N ALOY-C0E3 TE ALOVEOE3.TE 3.07! RAME HOOK — p— -
e S TYP WAL THKS:. 125 ALLOY:6063-T6 ALLOY:6063-T6 TYP WAL THKS: .094 VP WALL THKS:.062
TYP WAL THRS:. 125 TYP WAL THKS:. 125 TYP WALL THKS:. | 25 TYP WALL THKS:.062 : ’
ALLOY:6105-T5 PRODUCT:
0784 0.784 TYP WALL THKS: 630
— 219 —To
_T ! 16l
onz [ E]ﬁ 900 1370 oy '697—_1 UM CW SYSTEM
]—3.5\;94—1 L 212 || 054 460 .
i oeak 1) oeal #1.088 > 0.534
Yere —
1 ) B UM401 UM402 UM410 UM403 i LARGE MISSILE
.24 U
GLAZING ADAPTOR AT PNL AREA 3.409
} Sere GLAZING ADAPTOR AT GLAZING ADAPTOR AT ' ANTI BUCKLING CLIF TYP. FeAE Hoox SLIDER PREGLAZED & U N |T|ZED
VISION GALSS SPANDREL GLASS ALLOY:6063-T6
3.435 ALLOY:6063-T6 TYP WALL THKS: .080 ?t;oj,fffii,g 050 FO 05 CORNER
4.043 —— ’ ALLOY:6063-T6 g -
TYP WALL THKS:.062 TYF WALL THKS:.080 - ?#;O\X,fd c%ag 0
1.902 o
UMOO3 9
HORIZ. SPLICE 214 UM 106 7l03et o —2d452—
ALLOY:6063-T6 UM 105 A . L 21 aJ T 7.000 T '
TYP WALL THKS:.3 1 2 MALE SO°CORNER MULL FEMALE SO'CORNER MULL : — 1.273 | 370 e
o ALLOY:6063-T6 0.875
siorcossTs MOEOETE o | 2 LL i
1.303
| UM405 UM4 | | UM406 UM506
1.810 5.420 - CORNER CHNNL RECEIVER
' ’ ] INTERIOR VERTICAL COVER VERTICAL LADAFTOR AT PNL AREA ANTI BUCKLING CLIP @ CORNERS ALLOY:G | 05-T5
TYP WALL THKS: .375
ALLOY:6063-T6 ALLOY:6063-T6
A e0e e s TYP WALL THKS:.080 TYP WALL THKS:.050 —
3.732 .[— .
1672 J—‘_‘
3.625 5.440 5.440 r | Ti.oacr ﬁig
0.470 -
]» 1.564 | 000 E—L==@-l T—T b 4eso— !
L. ,
1815 [ e :Lz UM507 ENGINEER STAMP:
1645 1.303 FRAME HOOK INTERM. SLIDER
UMOO4 — A UM408 UM409 orei0sTs CONRADO S. CASEM, P.E.
INTERM TRANSOM UM 107 umM407 GLAZING ADAPTOR AT 3 GLAZING ADAPTOR AT 3 1/2" UmM41 2 B FLORIDA P.E.#: 55248
"
ALLOY:6063-T6 . UM108& CORNER REINFORCING CLIP MULL SPANDREL ? MUuLL VISION I_ 2.751—1
3 4 MALE MULL HEAVY DUTY ALLOY:6063-T6 ALLOY:6063-T6 i

TYP WALL THKS:. 125

ALLOY:6063-T6
TYP WALL THKS:.1 25

3 4 FEMALE MULL HEAVY DUTY
ALLOY:6063-T6
TYP WALL THKS:. 1 25

ALLOY:6063-T6
TYP WALL THKS:. 187

TYP WALL THKS:.080

ALLOY:6063-T6
TYP WALL THKS:.062

TYP WALL THKS:.282

o=y

5.420

3.000

UMOO5

INTERM TRANSOM

ALLOY:6063-T6
TYP WALL THKS:. 125

10.747 ‘

2.375

UM205

ALUM,HORZ.FIN TOP

ALLOY:6063-T6
TYP WALL THKS:. 1 40

1.52‘15J

JC |

— 2.000 —

UM510

KICKER BRACE BEAM
ALLOY:6105-T5
TYP WALL THKS:. 187

+1.125

1.750

UMS 1

KICKER ANCHOR
RECEPTOR

ALLOY:6105-T5
TYP WALL THKS:.250

4.041

0.969
1

3.626

UM509

KICKER ANCHOR BLOCK

ALLOY:6105-TS
TYP WALL THKS:,375

T—LSOO—T

2312

UM512

KICKER ANCHOR BLOCK

ALLOY:6105-T5
TYP WALL THKS:.250

8.780

UM508

CORNER ANCHOR CHANNEL

ALLOY:6105-T5
TYP WALL THKS: .375

(ﬂaux&&w%

07/01)69

[PRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 03 OF 34




ALUMINUM EXTRUSION INFORMATION

I 1.153

7.650

J‘——2.750——-l
UM209

TEE BRACKET
ALLOY:6063-T6
TYP WALL THKS: .1 88

8.250

T

7.187

umz I

VERT. FEATURE ADAPTOR

ALLOY:6063-T6
TYP WALL THKS: .1 25

3.437
- o.750L—l
umMzi2

VERTICAL FEATURE SPLICE PLATE

ALLOY:6063-T6
TYP WALL THKS:.1 25

5.469 |

4.375 }

uUM302

INTERIOR TRIM AT CORE WALL ST.JT.

ALLOY:6063-T6
TYP WALL THKS: .080

1.082

»+0.188

UM404

HORZ. FEATURE
ANCHOR BLOCK

ALLOY:6063-T6
TYP WALL THKS:.313

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33766
Phone (305) 5921212 Fax (305) 5991342

9.375 |
2,498
UM206
ALUM.HORZ.FIN BTTM
ALLOY:6063-T6
TYP WALL THKS: . 140
I 2.003
3.365
2.064
F Qﬂ 0.750 N? g-l 0.750
1,175 —
v
4.688 4.688
b—256e—- Japp—
UM213 UM215
TEE BRACKET WiTH COVER TEE BRACKET AT 90.0.5. CORNER
ALLOY:6063-T6 ALLOY:6063-T6

TYP WALL THKS:. 1 88

TYP WALL THKS:. 1 68

4.033

FA Tt 1]
5.367

UMOO6

SUBSHL

ALLOY:6063-T6
TYP WALLTHKS: . 125

2.875

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 [SHEET: 04 OF 34




GENERAL INFORMATION

DESCRIFTION

PICTURE
N.T.S.

MARK

DESCRIPTION

PICTURE
N.T.S.

MARK

DESCRIFTION

PICTURE
N.T.5.

MARK
4

DESCRIFTION

EXTRUDED NEGPRENE AIR SEAL GASKET 70 +/-5 DURCMETER
PER ASTM C-864 - BLACK

ko

3/8"x1 118" EXTRUDED SILICONE SETTING BLOCK
85 =5 DUROMETER SHORE "A" COLOR: BLACK

==

#10 % 1/2" LONG P.P.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

1116%.281" 1.D. x .625" O.D. NYLATRON WASHERS

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

UMNNO ! COMPRESSED
EXTRUDED RIGID PVC SPACER 3/8 172" EXTRUDED SILICONE SETTING BLOCK #10 x 3/4" LONG P.P.H SHEET METAL SCREW TYPE AB
@ | PERASTM D-1784- BLACK. £ @) | &5 =5 DUROMETER SHORE "A" D €) L anras Sten 16y i - @ 1/4@.20 NUT 5.5 {304)
UMNVO2 COLOR: BLACK. PaN N L1e-6
DENSE SILICONE RUBBER .
(3) | €0 %5 DUROMETER SHORE "a" - GRAY €3 € STaRLESS SR g T METAL SCREW TS —— @ 1140 LOCK WASHER 5.5 (304) %
UMNSO3 )
SILICONE SPACER GASKET .
(@ | 80 =5 DUROMETER SHORE "a" - GRAY @ 6 | 1z o romoackerrop @ & 812 12" LONG P71 SHEET METAL SCREW TYPE A9 _ &) /4D FLAT WASHER 5.5 (304)
UMNSO4 UMNFOO5
STAINLESS STEEL ALGNMENT PIN-TYPE 304 5.5 #12 x 1" LONG P.P.H SHEET METAL SCREW TYPE AB
SILICONE RUBBER RAINSCREEN GASKET & @ | crova & STAINLESS STEEL 18-8 -
@ 50 x5 DUROMETER SHORE "A" - GRAY & @
3 1/20-13 NUT 5.5 (304)
UMNSO5 3
#14 x 13/4" LONG P.P.H SHEET METAL SCREW TYPE AB
. € STAINLESS STEEL 16-8 -
COMPRESSED @ ELASTOLEN W300 FOAM BLOCKING - 1/2* THICK
SILICONE RUBBER GASKET UMAFOO 1 A
GO +5 DUROMETER SHORE "A" - GRAY . o
® R GRA W 69 #12-24 x 3/4" PP SMS TYPE ‘D' STAINLESS STEEL 18-6 Gj @) /20 LOCK WASHER 5.5 (304)
UMNSO6
A Vi
® SILICONE RUBBER RAINSCREEN GASKET 4 ) L
80 x5 DUROMETER SHORE "A* - GRAY P ]
UMNSO7 @ ELASTOLEN W300 FOAM BLOCKING - 1/2* THICK @ 1/4"-20 x 1* /5 HH MACHINE BOLT 5.5, WITH NYLOC PATCH, =;/////=l
ar UMAFOO | B A
EPDM SPACER GASKET 60 +5 DUROMETER SHORE "A* PER $ Iz §
ASTM C-884 - BLACK (PROJECT ONLY) @@ 120 FLAT WASHER 5.5 (304)
UMNEOS COMPRESSED : NYLOC FATICH
2 1/2" LG. RIGID PVC SEPARATOR - BLACK 7 ’%
@ PROJECT ONLY @ ELASTOLEN w300 FOAM BLOCKING - 1/2" THICK
PER ASTM D-1764 UMAFO02 1/4-20 x } 124 5.5. HEX CAP BOLT 5.5. WiTH NYLOG PATCH =;//f=l —
UMNVO9 L] 222 U @) 38'9-16 NUT 5.5 (304)

ELASTOLEN W300 FOAM BLOCKING - 1/2" THICK.
UMAFOO4

)

NYLOC PATCH

NORTON V-790 DOUBLE 5IDE ADHESIVE TAPE
F

1/4-20 x 1" 5.5, FH MACHINE BOLT 5.5. WITH NYLOC PATCH

RRRR

NYLOC PATCH

3/8'0 LOCK WASHER 5.5 (304)

CHANGE COMPANY NAME AG

RV# DATE NOTES BY

NORTON V-790 ONE SIDE ADHESIVE TAPE

¥xg

NORTON V-2 100 ONE SIDE ADHESIVE TAPE
30y 3
7 xg

172-13 x 11/2" LONG HEX HEAD BOLT S.5. WiTH

G0+ @

3/8'D FLAT WASHER 5.5 (304)

@ ®|O0|e

NORTON V-790 ONE SIDE ADHESIVE TAPE
Fxh

mmg%ig EIRE

SILICONE SPONGE TAPE (CLOSED CELL W/ PSA ONE(1) SIDE

XXX XN XK
POX X X X X X

3/8-1€ x 1 172" LONG HEX HEAD BOLT 5.5. WITH

@6 &

5/8'@-11 NUT 5.5 (304)

HIGH MODULUS, TWO-PART SIUCONE SEALANT
(STANDARD GRAY) DOW CORNING #983

v

MEDIUM MODULUS, ONE-PART SILICONE SEALANT
(STANDARD GRAY) DOW CORNING #7395

®

ELASTOLEN W300 FOAM BLOCKING - 1" THICK
UMAFOO5

1/2- §3 x 2" LONG HEX HEAQ BOLT 5.5.WITH

RN IR E)

5/8'@ LOCK WASHER 5.5 (304}

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

1/4-20 x 172" HEX SOCKET CAP SCREW
STAINLESS STEEL 16-8

#8x 2 1/2" LG, DRYWALL SCREW

! 174" GALV. STEEL CUP HEAD WASHER

QI @ |||

I wioTH
1,2,3 DC TAPE D j 69 | 7 @ FOAM BACKER ROD
UMAFO35
—
1,2,3 DC TAPE D 3" WIDTH ] 1/2-1 3X 3/4" FLAT POINT HEX SOCKET CAF SCREW Eﬂ
N @ L‘Jﬂ;\fps%'g’ EAC‘ER RoD STAINLESS STEEL 18-8
1,2,3 OC TAPE 19 @ BACKER ROD
5 WIDTH O | inesss
—F 5/8-11 x 2 i/2" HH BOLT 5.5 WITH —_— -
@ PROJECT ONLY @
€ | 1.230cTarE 6" WIDTH 2 @ BACKER ROD
UMAFO38&
4

12 GA. STEEL WELD PIN-4 1/2* LONG

3" ALUM FOIL TAPE

N0|o|o o

® | ®

BUTYL SEALANT

W
N

5/8-11 x 3" LG HEX HEAD BOLT _ SAE GRADE 5
PROJECT ONLY

/4" x 2 $'LG H.H.TAPCON SCREW

DADE COUNTY STAMP:

PRODUCT REVISED

a3 complying with the Flocide
Buiding Code
Agcepiane

1/4°-20 X | 1/2" LG ELCO DRILFLEX ANCHOR SCREW

5/8-11 x 2 1/&" LG. COUFLING NUT _ SAE GRADE 2
PROJECT ONLY

#14 x 1" LONG P.P.H SHEET METAL SCREW TYPE AD
STAINLESS STEEL 18-8

5181 1 X )6, Fri BOLT 5.5. waTht

€: 6

#14 x 1" LONG P.F.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

1/4-20 x 3/4" HEX REY SCREW WITH NYLOC PATCH
STAINLESS STEEL 18-

1/4-20 x 1* 5.5. FH MACHINE BOLT 5.5. OUT NLOC PATCH

1/8" CLOSED-END ALUM POP RIVET %' LG GRIP

#10 x I' LONG P.P.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 1 8-8

#8 x 3/4" LONG P.P.tt SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

O7/0(/09

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 05OF 34




GENERAL INFORMATION

MARK
#

DESCRIFTION

PICTURE
N.T.5.

DESCRIFTION

PICTURE
NT.5.

12- 13 x 3 1/2" LONG HEX HEAD BOLT 5.5.WITH

OO+ 3

®

5/6*-11 X3" LONG HH BOLT /5

>

#12 -14 XF LG HWH #3 DRILL FLEX

B

DA X | 1/2"LG. FH M.5, WiTH

B+ 6

% X | ¥1G H.H TAPCON SCREW

Fsee-

#12 x 3/4" LONG P.F.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

5/8"-1 1 X2" LONG HH BOLT &5

3/8"-16 X2" LONG HH BOLT &/5

M16X50 (5/6°%2*) HALFEN TEE BOLT. HD GALV, GRADE 4.6
HALFEN P/N BH4512 (WITH H NUT)

ORIONIORIOREC)

#10X 43 LG PHPH #2 TEK POINT WITH GRAY XYLAN
COATING SCREW

5/8'@ FLAT WASHER 5.5, (304)

®

#12 X 7'L.G PH PH #2 TEK POINT WITH GRAY XYLAN
COATING SCREW

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

378" X2" LONG HHMS

#12 x 2" LONG P.F.H SHEET METAL SCREW TYPE AB
STAINLESS STEEL 18-8

1/4"-20 X 1" LONG HWH TYPE *F* 5/5 18-8

®

# 14 X 1" G, ELCO DRILL FLEX

®

# 14X 1 1/2" LG. ELCO DRILL FLEX

#10x | 1/4"LONG P.F.H. TYPE F
STAINLESS STEEL 18-8

HILTI HAS-E Rods 5/8° x 8" WITH FAW - PN 00333194

HILTH HVU ADHESIVE CAPSULE - P/N 00256654

R| @ @@

3/8"-16 X1 1/2" LONG HWH TYPE 'F~ 5/5 SCREW

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

5/6 - 13 x | 1/2" LONG HEX HEAD BOLT 5.5.

178 THR POP RIVET W 3/16-14 GRIP RANGE

# 10 X 5 LG DRYWALL SCREW

#10X 1 1/2° LG P.P.H SHEET METAL SCREW TYPEAB S/S 18-8

HILTI KWIK BOLT 11 5/8 X 4 1/2 8§

DADE COUNTY STAMP:
PERODUCT REVISED

28 complylng with the Floride
Baiding Code

Aeveplence Ne -
Explration Date,

®

POWER FASTENER WEDGE BOLT 1/2'@ X 5" LG

HILTI KWIK BOLT 1 3/8 X 5 S§

HILTI HAS-SUPER Rods 5/8" x 7 5/8" WITH FAV - PN
00333783

HILTI ANCHOR ADHESIVE HIT HY §50 - F/N 00371957

/2713 X4 1/2" LONG HH BOLT 5/5

@I0|I® @6

1/2"-13 X3 1/2" LONG HH BOLT 5/5

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

o7/01/0Y

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 06 OF 34




STACK

HM , , HM , HM , HM

JT.

ALUM.
PANELS

STACK]
JT.

|

L sPANDREL G ]

v UW”NGLA55 T e ALTERNATE }
) P . H

2
7 ahp
OPTIONAL . W3S
!

y

VISION

INSUL./ LAMIN.

GLASS

BAR REINF.

| W/IX3 STLBAR
— (el p

2 "\ MULLION
0/ wicaP

V SPAN

MULLION
W/O CAP
(ALTERNATE)

Ny oo

S s 0 KR . _‘_:'. ;g' ]

.. BULLNOSE
o TRIM

e

ALTERNATE
5 HEIGHT

Z
O

" SPANDREL L
© L LAMIN. GLASS

> @

I/ . \
\ i el
(1 o
ANCHOR

S

ALTERNATE
ANCHOR TO
U2/ st

34" MULL o \ o / 3* MULL %
5" MU 90° 0.5. MULL 90° 1.5. MULL JAMB
W/STL REINF. W/ CAP

R

nyu LEGENDS
= - DL ANCHOR= DEADLOAD ANCHOR
- HM= HORIZONTAL MODULE
- GH= GLASS HEIGHT DIMENSION
- GW= GLASS WIDTH DIMENSION
€ , -V CANT. = VERTICAL CANTILEVER DIM.
# MODULE H - VM= VERTICAL MODULE
! -V SPAN= VERTICAL SPAN BETWEEN ANCHOR

3" MULL

- 5 HEIGHT= VERTICAL DISTANCE OF STACK

3 172" MULL
JOINT ABOVE ANCHOR

NOTES:

** LY | -FOR MAX. ALLOWED "HM",AND "VSPAN" SEE "DESIGN PRESSURE RATING/MAX.
i 1 FRAME SIZES" TABLE ON SHEET 09 OF 34

2- FOR MAX. ALLOWED "GW" AND "GH" SEE "DESIGN PRESSURE RATING/MAX.
GLAZING SIZES TESTED" TABLE ON SHEET 10 OF 34

3- FOR STACK JOINT 'S HEIGHT" LIMITATION RANGE SEE "DESIGN PRESSURE
RATING/MAX. FRAME SIZES" TABLE ON SHEET 09 OF 34

HM

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 5991342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PREDUCT REVISED
as complving with the Flaride
Balding Ceds

A@&awwf*‘@o 0714.0
cptnce M 7 /,5

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(hoceadaddarea
07/0//0‘?

'DRAWING NO.. PA-UM-LM-07-350

IDATE: 05/20/2005 |{SHEET: 07 OF 34




TYPICAL FLOOR

R I E
| |
| L |
| |
| ) |
| T’ a9 ® b .
| |
| |
| |
|
| |
| I
| |
| |
| . |
| |
I <}g, T . ° !
| - Fooe-
| |
Lt ——
"Q'A < @
PRI
/III
|
STARTER
1
'_— TTT "‘ O —t
| |
| I \\\\
] \

b ] |
L——— -

SCHEMATIC BUILDING SECTION

@SECTION @ COPING

NOTE:

"VCANT"= VERTICAL CANTILEVER DIM.
FOR MAX. ALLOW "VCANT." SEE "DESIGN
PRESSURE RATING/ MAX FRAME SIZE *
TABLE ON SHEET 09 OF 34

-~ 0&

YPAYARTARYAN ici=:5id | | IR

LN LN LN LN __E_“t_:—

/a SECTION @ WL ANCHOR,
@ TO UNDER SIDE OF SLAB

HIHHHEE BT A

ipninsksinninninmninsianin)

\

B o B v e s i

T IH H 5

7
7
‘
/
I
/
/

RENEEdEE

=t

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phane (305) 5921212 Fox (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

o

L3 P e e

Eedz:lzs
=

|"§\':F‘H ]

g

/"D "\ SECTION @ KICKER BRACE" WL ANCHOR

=

DADE COUNTY STAMP:

PRODUCT REVISED

as complying with the Flarig,
Beiiog Cods ”

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E#: 55248

607/0//0‘7

IDRAWING NO.: PA-UM-LM-08-350

IDATE: 05/20/2005 {SHEET : 08 OF 34




DESIGN PRESSURE RATING / MAXIMUM FRAME SIZES (LARGE IMPACT MISSILE)

OFPTION

WIND LOAD

UP TO +65 PSF /-95 PSF

UPTO +85 PSF /-1 15 PSF

UP TO +85 PSF/ -125P5F

UMIOI UM207 UM402
UMI02 UM207 UM402
3" MULLION W/O REINFORCEMENT
(REF. DTL 1/14)
Ix = 13.23 IN4
Sx = 5.16IN3

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166

"HM" MAX. TRIBUTARY WIDTH 3' - 4" - - Phone (305) 5971212 Fax (305) 599-1347
"V SPAN" MAX. CLEAR SPAN 13 -7 1/2" - -
"S HEIGHT" STACK JOINT " " B
RANGE FROM ANCHOR |6 3/4" - 55 3/4 - REVISIONS
V CANT" CANTILEVER DIM. 48" - 73" _ B

RANGE

UMIO7 UM207 |"'x3" STEEL BAR
UMI10& UM207
3 1/2" MULLION W/
X3 STL REINFORCED - 95" LG.
(REF. DTL 3/15)
Ix =21.39 IN4
Sx(ALUM) = 5.70 IN3
SX(STEEL) = 1.50 IN3

"HM" MAX. TRIBUTARY WIDTH

3'-3 3/4"

"V SPAN" MAX. CLEAR SPAN

13 -7 1/2"

"S HEIGHT" STACK JOINT
RANGE FROM ANCHOR

|3 3/4" - 47 3/4"

"V CANT" CANTILEVER DIM.
RANGE

47" - 67"

UMIO7 UM207 |'x3" STEEL BAR
UMI108& UM207 W2J"x I K "x J4"
STEEL CHANNEL
3 /2" MULLION W/
| X3 STL & CHANNEL - 95" LG.
(REF. DTL 4/15)

Ix = 23.55 IN4
Sx(ALUM) = 5.70 IN3
SX(STEEL) = 1.94 IN3

"HM" MAX. TRIBUTARY WIDTH

4| B 2%"

"V SPAN" MAX. CLEAR SPAN

' 3| _ 7!/2||

"S HEIGHT" STACK JOINT
RANGE FROM ANCHOR

14 3/4"- 41 3/4"

"V CANT" CANTILEVER DIM.
RANGE

47"- 67"

UMIO5 UM407 UM216
UMI06 UM407 UM216
90 deg OUT CORNER
(REF. DTL 1/16)

x = 19.19IN4 ly = 20.05 IN4
Sx = 6.61 IN3 Sy = 6.58 IN3

"HM" MAX. TRIBUTARY WIDTH

4'-1 3/86"X 3-3 1/2"

"V SPAN" MAX. CLEAR SPAN

13 -7 1/2"

'S HEIGHT" STACK JOINT
RANGE FROM ANCHOR

GOVERNED BY 3 /2"
MULLION ABOVE

| . "HM" REPRESENTS TRIBUTARY WIDTH OF C/L TO C/L MULLION SPACING.
2. WHEN STEEL REINFORCEMENT IS USED, REINFORCEMENT IS LOCATED @ 4" ABOVE STACK JOINT ¢ SHALL BE VERIFIED BY STRUCTURAL CALCULATION.
3. CLEAR SPAN (SPAN BETWEEN SUPPORTS) COMPLIES W/ L/ 180 OR 1" ALLOWABLE DEFLECTTION NORMAL TO WALL PLANE.

"CHANGE COMPANY NAME/ s
062609 REV, PER 2007 BLDG CODE NO CHANGES

RV# DATE NOTES

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(Qacccadofoeder
07/0//07

'DRAWINGNO.: PA-UM-LM-07-350

|D7\TE: 05/20/2005 |SHEET: 09 OF 34




DESIGN PRESSURE RATING / MAXIMUM GLAZING SIZES TESTED

"ISION GLASS" "SPANDREL GLASS" “ALUVINUM PANEL"
PTION 1 5/16" INSULATING LAVINATED GLASS 916" LAVINATED GLASS 316" ALUM PANEL
"GN' "&H' "GN’ "' "GN' o
14 HS/ /2" AS | V4'HS - 075 SOLUTA VANCEVA | 1/4"HS - 075 SOLUTIA VANCEVA STORM INNER LAYER
LARGE IMPACT MISSILE | vt INNER LAYER -1/4"HS A4HS
UP TO +85 PSE / -125PSE 46 R34 296 SQFT 46" 7712 24,850 FT i ;
GENERAL NOTES:

1. ABREVIATION HS= HEAT STRENGTHENED, AS=AIR SPACE

2 ADDITIONAL GLASS COLOR TINT, COATING OR CERAMC FRIT CAN BE ADDED AS PER ARCHTECTS SELECTION ON A PER JOB BASIS.
3. GLASS DIMENSIONS, THCKNESS, AND TREATMENT COMPLIES W ASTM E-1300-02

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

06-26-08 CHANGE COMPANY NAME AG

RV# DATE NOTES 8Y

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRODUCT REVISED

23 eomplying with the Flarids
Buiding Code
Asteptance Ng O

Explration Dute (] LY _:ZOIE

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

CWW§

or/olfe7

IDRAWING NO.: PA-UM-LM-07-350

|DATE: 05/20/2005 |[SHEET: 10 OF 34




(@)riGiD PvC THERMAL & 916" LAMINATED
e~k % arieler  @goncrmam N\ cu s
] ’I 5 ’} ) TEMPORARY SPLICE| STOP STRENGTHENED SOUND DEADENNER S
EACH SIDE OF SPLICE
14720 x 172" 15 SbCKeT Heap cap SILCONE SPACER
€3) SCREW LOCATED &FROM THE LEFT GASKET (TYFICAL) ]
END OF THE STACK JOINT HORIZONTAL I &
15" INS. LAMINATED GLASS GUTTER - LOCK, INTG A SLOT iN THE ((5) STRUCTURAL SILICONE
SILL HORIZONTIAL TQ ALIGN FRAMES AIR SEAL ;
23 | ASKET (TYPICAL) X 1) BY 4" LG. -
SILICONE SETTING 16 SETTING BLOCK SET IN
BLOCKS SET IN SILICONE 2 1/2" LG, RIGID PVC SILICONE AT |/4 POINTS
AT 1/4* POINTS @\ | SEPARATOR - (3) PER FRAME
e PERMASTEELISA
_ - - INTERIOR TRIM T T @
ENSC - | NORTH AMERICA
Frer L0 IS ] 3 X ° &
| e s i [ic 174" X |* PRESSURE | 1 ] q il [ |
174" X 1* PRESSURE 4 Y 3 EQUALIZATION SLOTS : ! | | -
EQUALIZATION 5LOTS = ﬁ AT 1/4 POINTS (TYFICAL) S | | | Eé 7933 N.W, 71st Street; Miami, FL 33166
AT 1/4 POINTS (TYFICAL) e ( 1§ } { e 1 g 3 W pisncoz | | | Fé Phone (305) 5921212 Fax (305) 5991342
15 ’ ! %
BOTTO || e BTTM. OF MULL 7. BOTTO 9 Bl ; i [ e F( g BTTM. OF MULL.
OF UM207 i S -0 ‘ % OF UM207 I ! AN ) B
7.GLASS 8 | ; - g I Na 10 17 ] [ o & e d |
BOTTOM OF VERTICAL __ 35'¢er A < BOTTOM OF 1 P — &C T UM30)
_ ) g
N BEYOND : UM301 (REF.ONLY) VERTICAL zlq .
FIN BEYOND —l 2
5 gl
r | .. T — T uvo0s (10 169 REVISIONS
3. UMOO3 (10" LG.) TYP. HORIZ. SPLICE
7 e i HORIZ. SPLCE Zn Z : :
& JEE— 8 __/ 1
| d D)
N TOP OF MULL. TOP OF VERTICAL S
' SILICONE AN FIN BEYOND |- SILICONE
"BITE « /’ . BITE Y
TOP OF VERTICAL __] N . D
FIN BEYOND L1 0 X 1/4"@ WEEP HOLES g
po T e ) N , 2" THICK CW30 AT 1/4 POINTS (TYPICAL) P . N, :
1/4"@ WEEP HOLES _/ Uniooz “ ] T ] ] ] T :L s N4 MULLION WRAP _/ I '
AT i/4 POINTS (TYPICAL) SHOP SEAL [ PaliaPery BTt i st e bt Bttt Dbty Bty 4 N/ (REF ONLY) @:)%OF SEAL -SILICONE iy | } | | ! | P
@ N T¢ jl : 1 I { 1 ! [ 1 /<\ /)‘\ | AND BACKER ROD H””HHI: e _1___4|A___=_-__r___:______,I____T <
] ~
@/ T 5 bl : o : : b N /’ N ({3)3TRUCTURAL SiLICONE W - . ) i | S
& S | @ E R i i s it - =
NI N - - ) 06-26-09 CHANGE COMPANY
=== —o—oE-—f—=o= 4 7 ! | I | | | !
‘% F=F==%=33 EE=r==d <N L CW INSULATION /16" LAMINATED | I 1 | I I I wva|  DATE NoTES By
916" LAMINATED GLASS R S SO S ST HNUp N ’ AS REQD | | i | | } |
7 o I | X hd GLASS A RS PO AN S T N ]
P Lo | | | i | i | ! ! PRODUCT:
il |

| ! [ i |
L
) |

n @ STACK JOINT DETAIL = { : o | UM CW SYSTEM

e 16 4 6% | SCALE: FULL 916" LAM. GLASS ¢ 1-5/16" 1G.LAM. GLASS

Y 7

LARGE MISSILE
3716 THK ALUM.PNL- 3 T DETAIL
e PREGLAZED & UNITIZED

ALTERNATE DETAIL

O~

Za ) e
! "G 5) 4
CW INSULATION SPANDREL/SPANDREL
(@)RiGID PVC THERMAL f— 2 2 T ASRIQD @ STACK JOINT
SEPARATOR AND
I | [ !
SOUND DEADENER \ N “ o ,| ! |20 % 172" 515 SOCKET HEAD CAP SCREW DADE COUNTY STAMP:
L ! R S LOCATED &' FROM THE LEFT END OF THE
| STACK JOINT HORIZONTAL GUTTER PR
& ° LOCK INTO A 5LOT IN THE SiLL HORIZONTAL PROGUCT REVISED
N e TO ALIGN FRAMES s complying with the Fiaride
Buiding Code
@\ Aseeptance Mo 09-0714. 0 )
MODULE LEy Euglratien Date, [, 20)5
T - T T @
¥ |[JSel -
Zu 0
s e ] NOTE:
g | ,JG 5 NEOPRENE AIR SEAL TARGE WEEP HOLE 15 TO REMAIN OFEN
g X 1 PRESSURE | JGASKET (TYPICAL) Z TO ACHIEVE PRESSURE EQUALIZATION
EQUALIZATION SLOTS {REF. ONLY) IN THE SYSTEM,
AT 174 POINTS (TYPICALD 3 = THE RAIN SCREEN GASKET IN FRONT WILL
( REDUCE THE WIND NOISE.
ofﬁ’é%] > 1 1 BTV, OF ML ENGINEER STAMP:
° 54@i0 e A v
somovor 2k | PN Rt =R CONRADO S. CASEM, P.E.
FIN SEYOND > : 2. 4 FLORIDA P.E.#: 55248
et ] _ -
- , ‘ == IET)
r * e ~ . “_JI—uMo03 (10 16.) ::::::@ W
7. @ T T T TYP. HORIZ. SPLICE t |
2 |
T A TS > i
| SO T |
’ I (e 67 WY L
TOP OF VERTICAL ' siicone Iz | == ' b
FIN BEYOND "BiTE ,g i GITP. = L 7|, L —r g
0 S (/"‘ e L |
1/4'0 WEEP HOLES KIS - : - - T 77 Y
AT 174 POINTS (TYPICAL) T 88 e e e o L ( N - Z
T N s o s s —— A D/ S - s
AND BACKER ROD AN J | i | i i T e e e e - a7/0f ?
/ R B | | | | | | N . I N
((5)3TRUCTURAL SILICONE \@ - | i ! | | X Te) D)
¢ NE% L NE%
@/ I 1 1 X T ) )
I A
|
s A N
| | ! | i | | m
3/16 “THK ALUM.FNL/ H[ | | [ i I | i /'_\ STACK JOINT DETA“_ m DETAIL B DETA“_

L G 9. SCALE: FULL 3116" ALUM SHEET SCALE: FULL SCALE: FULL
e d I I
! e W v v |prRAWING NO.: PA-UM-LM-07-350

L. ” |
IDATE: 05/20/2005 |SHEET: 110OF 34




MODULE LINE

BOTTOM OF VERTICAL -‘%"

=2

UM203 i

FIN BEYOND

UM208

UM301

b o —y

TOF OF VERTICAL

FIN BEYOND

MODBULE LINE

umzi4

/1 "\ STACK JOINT @ TYP. POSITION

D-004 ] SoMEFuL

174" X 1" PRESSURE EQUALIZATION
SLOTS AT 1/4 POINTS (TYPICAL)

L'eroa

[===]

BOTTOM OF VERTICAL 4

FiN BEYOND !

i

ol
UM20&

ol-

BOTTOM OF VERTICAL
FIN BEYOND

UM301

D

DETAILS NOT
INDICATED IN
ELEVATION

STACK JOINT ANALYSIS

THERMAL : 30° F TO + 180° F
USE +75° F

NOMINAL TYPICAL FLOOR TO FLOOR 13'-6"

162" X 75° F X .0000!28 = .156" THERMAL

PRODUCTION & ERECTION TOLERANCES /16" + 1/16" = |/8"

LIVELOAD: 3/8"

COLUMN SHORTENING: 1/8"

TOTAL: 0.156" + 0.125" + .375" + .125" = 781"

USE + 13/16" TOTAL STACK JOINT MOVEMENT

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

ol

UM203

o
[

o

i

UM30!

R

7
@

TOP OF VERTICAL 4’

FIN BEYOND

/"2 "\ STACK JOINT @ MAX. OPEN POSITION

D-C04 SCALE: FULL

/3 "\ STACK JOINT @ MAX. CLOSE POSITION

D-004 ] seae

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

FVISED

PEBDUCT R

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

((Bacrecdod o,

crz/a//aff

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 12 OF 34




9/1 6" LAMINATED

LAMINATED GLASS

VERTICAL COVER
(WHERE REQ'D)

@ SILICONE SPACER

GASKET (TYPICAL) \
@ SETTING BLOCK SET IN.
'SILICONE AT 1/4 POINTS

MODULE UNE—l

ke

CW INSULATION

s
\
/ INSULATION MULLION

ie 7
RN r Z
[
&
s Y
e siLCONE ||2
2 BITE =
2k UmAACOZ |
& e _
A4 £
6de 100 0.6 Z!
1 «
2 11, SILICONE %
fe BITE —1
J N ] _
/& T A

¥l Y

ET UM202
SILICONE

I 5/16" INSULATING

LAMINATED GLASS

9/16" LAMINATED

LAMINATED GLASS
VERTICAL COVER
(WHERE REQ'D)

(%) siLiconE sPacer
GASKET (TYFICAL)

SETTING BLOCK SET |,
SILICONE AT 1/4 POINTS

7/

WRAP AS REQD

UMOO4

N—Gane.

/1 "\ INTERMEDIATE HORIZONTAL DETAIL

w SCALE: FULL

9/16" LAM. GLASS - 1-5/1 6" INS. LAM. GLASS

CW INSULATION
AS REQD

INSULATION MULLION
WRAP AS REQD

MODULE LINE: 3.
1 5
_ —
) A= [E0N PR
7 1l o] 4
8 I U
14 SILCONE ||
2 BITE =
ok UmMAACOZ ]|
Lo
_Q —_ l; —
6@ 10°0.6— G

11, SILICONE
I BITE
N

C:}k

—— NI~

I

i

o

ET UM202
SILICONE

I 5/16" INSULATING

] _y

GD\ m umz

LAMINATED GLASS

UMOO5

/2 "\ INTERVEDIATE HORIZONTAL ALTERNATE

W SCALE: FULL

VERTICAL COVER —
{WHERE REQ'D)
I 5/16" INSULATED

LAMINATED GLASS

@9 siicone smwc\

BLOCKS SET IN SILICONE

VERTICAL COVER oot
(WHERE REQD)
9/16" LAMINATED

GLASS
@@ SILICONE SETTING
BLOCKS SET IN SILICONE
AT 174" POINTS

AT 1/4" POINTS
MODULELINE MODULE LINE 5
%] ESERNEN
\— — - Al
GG g { T ]
Z Le |{m — L Lie {|: \
8 IS & e lio
1k ] VL o]
| = z J L=
! | - 2' |~ =
25 L
° === g UMAACO2
Le ( Lo
14‘ T 70 A3 |4 -
10" 0.0 € >
L Q] L Q
2 1.1, SILICONE g 2 11, SILICONE g
e BITE —1 e BITE
J . J N =
N I L : Sl N i
UMO05
3, J LT * | 3, j Lt
ie ie e i3

ET UM202
SILICONE

I 5/16" INSULATED

LAMINATED GLASS

/3 ™\ INTERMEDIATE HORIZONTAL DETAIL

SCALE: FULL
N

1-5/16" LAM. GLASS

I
|
|
|
!
|
|

9/16" LAMINATED
GLASS

/4 "\ INTERMEDIATE HORIZONTAL DETAIL

W SCALE: FULL

16" IG LAM, GLASS

ER POINTS
ENDS

VERTICAL COVER — |
(WHERE REQ'D)
I 516
LAMINATED GLASS 2" LG SLOT5@ QUAR
SILICONE SETTING /—— AND MILLED QUT 1" AT
3/16" ALUMINUM PNL BLOCKS SET IN SILICONE
AT 14" POINTS\
MODULE LINE
3 3.
e - i
ey [ B B UMOO4
-%—‘ <] - oy
r § [ o 0 (o)
5 e S ool YN AN Y%
LG s]
sileone {|= 1L T Q i
J BfTs =l 2 1 J % l
2 [ 2f \ UMAAOS0—
UMAAQCOZ —] H
L 1L o i _
K - - _—’Q — - —
J @10 6C
= Q
£ j 1y SILICONE g
L L
J e IS BITE 24
R N -EB&
d /I ] N 1 g'7 °
] L ;; T o7
%" e %“ e
SET UM202 I SET UM202
IN SILICONE | ‘N Slcone
| 5/16" INSULATED :
LAMINATED GLASS |
} 3/16" ALUMINUM PNL

/5 "\ INTERMEDIATE HORIZONTAL DETAIL

SCALE: FULL
NEV

3/16" ALUM. PN, - 1-5/1 6" INS, LAM. GLASS

3/16" ALUMINUM PNL

/]

/& "\ INTERMEDIATE HORIZONTAL DETAIL

W SCALE: FULL

1-5/16" INS. LAM. GLASS - 3/16" ALUM. PN

2 -
— r —_ ° N
T G
Zn o]
8 LI oY
sileone |1=
Brrg =
2g
UMAAQQZ ~—
s _
£
‘ @io"oC «
Lo g
2 1l
e >
J .
|

&,

3/16" ALUMINUM PNL

NOTE: DETAILS 3
THRU 7 ARE
ALTERNATE DETAILS

/7 "\ INTERMEDIATE HORIZONTAL DETALL

W SCALE: FULL

3/16" ALUM. PN.

Phone (305) 592-1

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166

212 Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ShpET Y

PRODUCT REY

CONRAD

ENGINEER STAMP:

O S. CASEM, P.E.

FLORIDA P.E.#: 55248

0’7/0{/09

'DRAWING NO.:

PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 13 OF 34




INSULATION MULLION
WRAF AS REQD

—F=

s /\ A
]*\>/ s NN \</
e
llV N \fj\ N AN
N S 50 >
\/ - @ AN CONT. AL. TAPE
r\ o UMSO;«\ \ y A S0/ /
— e g S S
i i \,=i==ﬁ1_-l|_,l—_==.r|I ll\c:—_r#é-_—i:./ i i
e B B e
I | | I | | il i | |
) 1 1 I | | Il | 1 1
I R B | L 1 o I i
T T BT T T T S Sk R
I ] | I I 1 I | | 1
I i I | | ! I |
:_ .L _: II_' 1 | 1 } | 1
B S R e { I AR e - - —Ht——t—r—t ot
oo I ! E—}'T b
; i : _H ¥ " : CW INSULATION
RSO R SN S| [ AS REQD
i ! i ! Y4
I R S
JEES SR TR SN | I FRS s e
] i t II: :
| I i
| | | H: :
.
o
ar 1
:2:::':::;:&&7“)%
(@)weip Pvc THERMAL - — —H: He e — — —
SEFARATER AND @W _7 ; TOF AND BOTTOM
SOUND DEADENER Lu PLUG SEAL
UM402 HORZ. ADAPTOR—% & 5@

fo f— s —f

i

N

@/

| /

UM203

971 6" LAMINATED GLASS——/

€3)sror 5EAL—/

Nt
o

I

7

e

;—g" SILICONE BITE

Rl

AR SEAL J

GASKET (TYPICAL)

(@)rcip PUC THERMAL——1
SEPARATER AND
SOUND DEADENER

Ly
UM401| HORZ. ADAPTOR—#V

UmM203

1A
i
’ /71 7\ 3" MULLON DETAILL @ 9/16" LAMI GLASS ERntaa

102

w SCALE: FULL

N

L5 By 5.
e B re
UMi02 UMI0)

i
UM403

AR SEAL J

GASKET (TYPICAL)

@ wieip pve THErRMAL—

SEPARATER AND
SOUND DEADENER

i

3" MULLION DETAIL
@ | 5/16" IG.LAMIN GLASS

2
w SCALE: FULL

r:/mo; EZ

°

D sh@ 12 OC. /@
N
O
«
=
o

——)UM20

umM203

@ SHOP SEAL

s

|

\__ I 5/1 6" INSULATED/

LAMINATED GLASS

12 SILICONE BITE

‘f MULL ¢ MODULE

ol

& MULL # MODULE

12 sicone BITe

UMPAO22
2" ALUM.PNL.

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phane (305) 592-1212  Fox (305) 5991342

/"3 3" MULLON DETAIL @ 3/16" ALUM PNL.

I 4 SCALE: FULL

ALTERNATE DETAIL PANEL/ PANEL

@RJGID PVC THERMAL -~
SEFPARATER AND
SOUND DEADENER

T M40

o
UMz 10

J (
EY ,ﬁ UM202| =

\

\ UM203

G

MULL ¢ MODULE

\ 1 5/16" INSULATED/

LAMINATED GLASS

13" SILICONE BITE

3" MULLION DETAIL
/4 O\ WITH 3" CAP

w SCALE: FULL

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:
e

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

7 /e

@7/0//09

IDRAW!NGNO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 14 OF 34




UM 403-4"

a

LG.

ANTH BUCKLING CLIP
LOCATED@CENTER SPAN
BETWEEN HORIZONTALS

Ve
2
_ 7,
I |> % ‘<,
e R N
UMTOS UMIO7

/"3 "\ 3-1/2 MULLION DETAIL

IX 3 STL. BAR
REINFORCEMENT AS REQD.
JACK TIGHT INTO MULLION
WITH #12-24 x 3/4" 5/5 PPH
TYPE 'D' FASTENERS AND
TRAP VERTICALLY WITH A
#12 x 1" 5/5 PPH SMS AT
EACH END OF REINFORCING

v SCALE: FULL

) MULL ¢ MODULE

ﬁ:_a;yaﬁ—_\r—__ >—¥77\*~—7\___—/Y_\‘—_ :ﬁ INSULATION MULLION
AN N NN NN A WRAP AS REGD
i\ < A~ A A A N
N7 N NN
X X
N N /N
| N/ AN N/ N/
In /\\ /N /N AN
L Ve )L/ N/ AN
—— — ot ~ — —
1 ' |\.===ia)==
I i I
e e R Rt ety met
I i I iy
I I | [
| | | il I
"‘T“_‘T____L_____"‘_—__;
i I | i
[ I | | 1!
| | i It
B e T e A
] I ! i
I N B
e At Sl S ot
| | i
| | ! : H
I | |
R SO SN R i [ I ==t CW INSULATION
1 i 1 : I AS REQD
I | I
S
TTrUTTT T T T T TR T
| ! 1 ; t :
n I i 1 1 UMTO7
° Y R O N Y woelomd ) AL L
RIGID PVC THERMAL 7Z— 7 ) Q—— —— G
SEPARATER AND @!2" 0.C) TOP AND BOTTOM
SOUND DEADENER L B PLUG SEAL
UMA402 HORZ. ADAPTOR: W\ JP—|9e
L
f A
o o g
QI
J > 3
] o
9.
16
[ ‘ S
| ve e
J ’ 2 LAMINATED GLASS
3y
_/ g
(9E3)srop sear Lo Lt Lo
It
\ Liscone ) L] /~ 17\ 3-1/2" MULLION DETAIL
G MULL ¢ MODDLE W SCALE: FULL 9/16" LAM. GLASS (NO REINF.)
1o
| 2 3 9.
i6 & 16
UM 08 UMIi07
9] 3 J
5 C \—@TYP.
AIR SEAL
GASKET (TYPICAL)
(@)Re PvC THERMAL—|
SEPARATER AND
SOUND DEADENER
1
8" @2 gc <[
_ ' (4
- == UMA0S N
il
o I\II\ o
od
| g |
i 23 T
35 I
=1 T ]
i N p N
" I
! L “,. [GLASS
| nall
@SHOF SEAL 13, ! 5/16" INSULATED
8 LAMINATED GLASS
L L L
7 7 2
3 LR , /"2 "\ 3-1/2" MULLION DETAL
I —="(SILICONE BITE) 5" 5 =" — -
e 2 16 1-5/16" IG LAM. GLASS (NO REINF.)

W SCALE: FULL

W/ 1" REINF. STL. BAR

UMTO8 UMIi07

/"4 "\ 3-1/2" MULLION DETAIL

| 1% 3 STL. BAR & I/4THK X 2 §' X1 " STL
FORMED CHNNL REINFORCEMENT WITH 3
ROUND CORNERS-JACK. TIGHT INTO MULLION
WITH #12-24 x 3/4" 5/5 PPH TYPE D'
FASTENERS AND TRAP VERTICALLY WITH A
#12x 1" 5/5 PPH SMS AT FACH  END OF
REINFORCING

W SCALE: FULL

AR SEAL
GASKET (TYPICAL)

SEPARATER AND
SOUND DEADENER

(@ rep Py THERMAL—-]

|

UMPAO22 ——/

2" ALUM.PNL.

(©&dsnor 5EAL—/

lé"(fBlLICONE BITE)

GLASS
= I

L L

Wy 1" REINF. STL. BAR 4 5TL. CHNKL

/75 "\ 3-1/2" MULLION DETAIL

i MULL

e 17

SCALE: FULL
£ MODULE

3/16" ALUM. PANEL (NO REINF.)

WALTERNATE DETAIL PANEL/ PANEL

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS

) 06-26-09 CHANGE COMPANY NAME AG

DATE NOTES BY

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

(

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

407/0.707

IDRAWING NO.:

PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 15 OF 34




DADE COUNTY STAMP:

|
|
| |
| N |
| N |
! AN |
| N | i
| g | |
| » |
» )
| ) N\ E PERMASTEELISA
| £ NORTH AMERICA
AN
t
| 2 \ 69 o | I 7933 N.W, 71st Street; Miomi, FL 33166
] > § IE> | Phone (305) 592-1212  Fax (305) 599-1342
INSULATION MULLION ; o I~
WRAF AS REQD : N L J 8 la
_ 2le bl
| \ UM21i B :3
| 2 N B
. |
’* e ~UwmEoT ~ — AN | REVISIONS
UMA407 4" LG, (AT SPAN | )LOCATED Lo A ‘
@MID SPAN(2)QUARTER POINTS ] / - b
AND @ ! 0" FROM TOP END,AND AT 3" ] \ | B
FROM BTTM END. [] 3
(5 PER FRAME) | \ 3
, /AT || 7
?SSAEZ:(?H MULL. SAME AS SPAN | | umz1e \ 3
BUT NOT UM407 AT 3" FROM BTTM 1
CW INSULATION I /7 g [ 1_[1_!? LT %\ wp >
A5 REQD : / / UM202 N :
EIEIT A A
S A S A | UM203 \ -
O | s s ool o \ N
L / N . .
N7 N7 e | - ‘, AN PRODUCT:
ll/ AN Va \\ // N : 1 5/1 6" THK. INSULATED LAMINATED GLASS AN \
! N Lo
[N | UM CW SYSTEM
— | /2 "\ 90 0.5. CORNER MULLION DETAIL
o I SCALE: FULL [-5/16" INS. LAM, GLASS
NE aoe | e/ LARGE MISSILE
» | PREGLAZED & UNITIZED
|
|
|
|
|

2 \ 54

3t3

I
}
\
|
\
|
|
|
|
\
|
l
\
\
\
1
\
\
\
\
|
\
\
\
t
\
l
I
I
!
|
l
l
|
t
l
l
|
[
[
|
|
o

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

UM203

= o :
; L
—umEl7 N ]

9/16" THK. LAMINATED GLASS

( (Jawee chaddartees

L He' ALUM. SHEET

|
2% |
. N o7fe/o9
1 3. ;
3¢ ] |
UM-203 HORIZONTALTRM | UM-203 HORIZONTAL TRIM
/1 90° 0.5. CORNER MULLION DETAIL I /3 ™\ 90 0.5. CORNER MULLION DETAIL
w SCALE: FULL 916" LAM. GLASS \\1_6/ SCALE: FULL 316 ALUM. SHEET

ALTERNATE DETAIL PANEL/ PANEL IDRAWING NO..  PA-UM-LM-07-350

[DATE: 05/20/2005 [SHEET: 16 OF 34




£ MULL.

BACK OF MULL.

1/8" THK. ALUM. SHT

1/8" THK. AL.
I~ FORMED CLOSURE

|

[T /& THK. AL CLOSURE

8" PART UMAAO35-O}

- @ @ TOF OF HORZ. PL

@\:\4 P
<2 3'_*..“.,, 52
NN ’ =
. 1 lgs
i ‘ E
Tl
__?E - : - /)
178 THK. AL. ANG, — T i | UMAAD36-01 [}
CONT. VERT, " | @0NNNBIEININN)
n

!
!

, "
GLASS
REF.

e ol

/ e

/4
2 bl’ - bM207

1 5/1 6" INSULATING
LAMINATED GLASS

[\

/1 "\, 90° 15 CORNER MULLION DETAIL

UMAAQC35-0!

/1/5“ THK. ALUM. CLOSURE

AN
22N
Ne

-

SECTION A-A

w SCALE: FULL

UMTO2

1/8" THK. ALUM. SHT
W/ALODINE FINISH

IR

L4
o | UMAAOD36-01 [
178 THK. ALIANG. — "1 0NN
CONT. VER]T. f A
7
| - + UM207 _J
1 7 ;

5P€S32AL 4 ) ‘
/

/2 "\ 90° IS CORNER MULLION DETAIL

W SCALE: FULL 916" LAM. GLASS

L]

UM102

=]

)

1/8" THK. ALUM. SHT
W/ALODINE FINISH

NYIRRENNIII

—

178 THK. AL ANG. — T |

B

CONT. VER]T.

\ s

192
©e j—%// \
SHOP SEAL //

/3 "\ 90° 15 CORNER MULLION DETAL

A
A D

w SCALE: FULL 3/16" ALUM. SFEET

ALTERNATE DETAIL PANEL/ PANEL

@ 10" 0.C. L

@ 12" o.C.

%W

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phane (305) 592-1212  Fox (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PRODUCT REVISED

as eomplying with the Flaridy
Balding Code

Aeceptance Ne 09- 0 /M. 0)

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

st lovico,
6)7/0//0‘]

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 17 OF 34




" ki I .
:: L] -
i 'E z ?‘ — = —
i I ~ _r TJ
It ! | |
Il :
i | I
It ! |
I I .
il I it \
i : iﬂ; : wh
Iy i
f | : PERMASTEELISA
i U
I | NORTH AMERICA
i
P 1%" !
| 1
I " | UM 503-6° LG. 7933 N.W, 71st Street; Miami, FL 33166
M FRAME Hi
! | e HOOK AND FRAME Phone (305) 592-1212  Fox (305) 599~1342
I ! X 3/4" 5/S JACKING SCREW - ASSEMBLY
1 I ACCOMMODATES | 1/2" UF/DOWN
- U — ERECTION TOLERANCES
v It |
I !
i :
” [ REVISIONS
I
b —— — - E
i <
I
i 3
I :
I
il )
]
:: '| |I | ——UM 504-314" LG. >
i L ALUMINUM FRAME HOOK WITH 3
f o 1/4"-20x 1/2" CAP SCREW TO PIN
It FOR THERMAL AND SEISMIC 3
1 | ‘ 4% LATERAL MOVEMENTS 3
I: | | 5/8-11 x 2" HH BOLT 5/8 p 06-26-09 CHANGE COMPANY NAME AG
:: ‘ I / gﬂ’; lé?fg\xﬁgﬁcRKAND NuT RV# DATE NOTES BY
BLOCK
i PRODUCT:
I s : : N [
5.
I = I
! || =) UM CW SYSTEM
:: B A W o e WO
i | = — = uvsol LARGE MISSILE
I — = = — j— = ] o REF. TOP OF SLAB @TYP FLOORS
I | A s X/ d) < PREGLAZED & UNITIZED
I | < 4\7 AR AN 2l 4 4
I by e~ _ : A
Il \<\H f A < A
|*‘\L! 794\\ . A
H : : : :: : I’\\\\\z(\/ \\\\\\‘& . CONCGRETE EMBEDMENTA
- 15 PER SIGNED STRUCT. ’
“ L Tl N g:,’*\\\\ CNCs oA PR o8 . ¢ DADE COUNTY STAMP:
Il A A== | Se—Z ~—— ) BASIS -
” - | Y 4 Iflr H' R B\ ‘%3&1\ - - EVISED
I | L < R 4 Te—e - vith tire Flarido
I I < A o\
i f L ¥ < 4 ‘\\\5\4 :
“ : 4 < R T 4
il | I |
| I I 4
i | 4 4 L < o :
I : i { : A 4
” | < | | A
:: : L f ’
| <7
! | 4 =1
i : < Ll LJ < ENGINEER STAMP:
i :
L o 4 2 L9 < CONRADO S. CASEM, P.E.
H | | = .12 ToterANCE | A 4 NOTE: FLORIDA P.E.#: 55248
9/16" LAMINATED GLASS 1] : :’II; EDGE OF 5LAB < A THE ANCHOR SYSTEM 1S
i | b : < DESIGNED TO ACCOMODATE
L | 'l’ o £ | 172" UP/ DOWN/ IN/ OUT #
W i 1 > v . RIGHT/ LEFT FIELD TOLERANCE
i I 3 9 SEE SHT # 19 FOR TOP VIEW.
I I ,
| |[ 4 . A 4
\ .
: | 4 o 4 | /1 ™\ ANCHOR DETAIL @ CONC. COND. { Cg : bl Coion
i : » A <7 ‘ W SCALE: FULL ; ~>
I : .
. . T 4 a7/ofoq
| : <
|
! | ¢ 4 4
| o .
I | i < 4 A4
| v i <
| | n .
; | ﬂ:
I: | < g - y . .
d , DRAWING NO.:  PA-UM-LM-07-350

IDATE: 05/20/2005 |[SHEET: 18 OF 34




sz

- 0.39 |

UM 505-8" LG.
ALUMINUM FRAME HOOK AND FRAME
HOOK RECEIVER TAPPED FOR A 1/2"

-

A
EE
L

/3
/ ?

2

ALUMINUM FRAME HOOK AND FRAME 1
HOOK RECEIVER TAPPED FOR A 1/2" 1l
X 3/4" 5/5 JACKING SCREW - ASSEMBLY I
ACCOMMODATES | 1/2" UP/DOWN 1

I.,
|
|
|
|
UM 503-6"1G. I
|
|
L]

ERECTION TOLERANCES I L

X 314" 5/5 JACKING SCREW - ASSEMBLY
ACCOMMODATES | 1/2" UP/DOWN
ERECTION TOLERANCES

. NOTE:DEAD LOAD ANCHOR
'&" SCREW NOT REQUIRED

UM 504-34" Ig.
ALUMINUM FRAME HOOK WITH
1/4"-20x 1/2* CAP SCREW TO PIN
FOR THERMAL AND SEISMIC

LATERAL MOVEMENTS 5/8-1 1BOLT 5/5

B %

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

|
I
I
|
I
I
I
I
I
|
Iy ! 4
Iy T Tn
If ! i
I | N
I |
Il 5 !
=& st
il |
i |
I |
i :
A 4 — f i T
i ! T T
:: ’
: |
I * -
! N T
lf e
I
i [
i
I
i
Il
It
I /
It
I /
e g

9/1 6" LAMINATED GLASS

|

|

20 ]
& 1
|

|

|

i * 1-1/2 TOLERANCE

UM508 li

|
|
I
|
I
I
—
1
|
|
|

——UM 504-34" LG.
ALUMINUM FRAME HOOK WITH

1

1/4"-20x 1/2" CAP SCREW TO PIN
FOR THERMAL AND SEISMIC
4,)1*' LATERAL MOVEMENTS

o

5/6-11BOLT 5/5

WITH LOCKWASHER AND NUT
ON A 3" LONG LOCK

BLOCK

—
cn|:-"
L

Ni-

——

STEEL STRUCTURE 1S
PER SIGNED CALCS
ON A PER JOB BASIS

oL
2 —
+ 1-1/2" TOLERANCE

/1 ™\ ANCHOR DETAIL
W SCALE: FULL

EDGE OF STEEL SUPPORT

WITH LOCKWASHER AND NUT
ON A 3" LONG LOCK
BLOCK
- REVISIONS
" I
iz [ 1Yo ;
———————————— 1S Ay Leaka Arhas apand S
| I D
L[] ’
4
| E)
) 06-26-09 CHANGE COMPANY NAME AG
RV# DATE NOTES BY
& PRODUCT:
perer UM CW SYSTEM

/1B "\ ANCHOR DETAIL @ CONT. CORNER ANCHOR

w SCALE: FULL

ALTERNATE DETAIL

NOTE:

THE ANCHOR SYSTEM IS
DESIGNED TO ACCOMODATE
+ | 1/2" UP/ DOWN/ IN/ OUT &
RIGHT/ LEFT FIELD TOLERANCE
SEE MD 100 FOR TOP VIEW.

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PREDUCT BEVISED
2y with the Floridy

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

N

or/or)o

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 19 OF 34




o

UM 501 AL. ANCHOR CL.

: PERMASTEELISA
NORTH AMERICA

/ SLOTS 3 1/2"x | 1/16".
7933 N.W, 71st Street; Miami, FL 33166

7 N I
‘zw . Phone (305) 592-1212  Fax (305) 599-1342
5/8"-1 1 x 2" 1G. FH BOLT (5/9)

W/ LOCK WASHER
/ ONA 3" LONG LOCK BLOCK.
]

/ UM502 LOCK BLOCK.
— REVISIONS
/

/”/_‘ 174'D -20 x1/2" HEX SOCKET
CAF SCREW STAILESS STL.

EDGE OF SLAB R:I# D::'Em == :::v — :j
OR 5TL. SUPPORT
__________ - PRODUCT:
§ UM CW SYSTEM
2% LARGE MISSILE
(-1 172 PREGLAZED & UNITIZED
/
|
| : - |
| |
| | | ! DADE COUNTY STAMP:
T a I L |
| | o 1= |
R s L
| | | o
+ — — cw lNSL{LATION
wooszm—t | | 4 ) u =
{TYPICAL) __‘t_____:-____:___”_‘____ R T S
o
RN R R |
| t | |
| I i |
& | I | | |
edecobocbeadec LAl D d bdeocbinado 0o Lo
| il ENGINEER STAMP:
CONRADO S. CASEM, P.E.
__________________________ FLORIDA P.E.#: 55248
[
.
2. FACE OF GL.
: A A
- ( Cociidoddasco,
| , . » o717
1y 1F —1 SEE SHEET # 14
FOR DIFFERENT GLAZING
;
& muLL
/1 ™\ 3 MULLION ANCHOR TO STEEL STRUCTURE
\\Zy SCALE: FULL IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 20 OF 34




NI—
N

NI~

(+/-1

? SLOTS 3 1/2"x 1 116",

UM 501 AL. ANCHOR CL.

5/8"-11 x 2" LG. FH BOLT (S/S}
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

% /— UMS502 LOCK BLOCK,
/

./ —
140 -20 x1/2" HEX SOCKET
/—‘ CAP SCREW STAILESS STL.
8t // EDGE OF SLAB
4 OR STL. SUPPORT
— 7 ————] —
//////
P Sm— —_— _//,/// UMSOL *v.—_—__ﬁ
7N N /N VAN / \ / i
[ 4 N\
. | N { N N /\/ N /\/ > \/ ),! INSULATION MULLION
WRAP J
1729 N7 WO‘{\ Y N umsea ™ \l| AS REQD

BACK OF MULL.

i
i
|
O S S
| i
I I
I |
e
i I
i i
I i
UG [N —
I i
I |
| I
[ I
I e
[N . —

| BED it SEALAYT i :
| | (MTICAD | i |
S O SO U S 4
| |
I

e s oy Y OOV S

e e L e i el s iy i
i i i i |
i i i | i
i | i i i
i m e e e e
i i i i i
| i | i |
| i i i |
r r H H B CW INSULATION
| | | | ! AS REGD
i | i I
SR O S —
i i i i
i i i
i i i i
L 1 1
: i i |
| i i !
i | i i
L .l___1 1
i i 1 i
i i i i
i i i |
1]
T T T T
DU U S W S S SO S E AU S
FACE OF GL.

SEE SHEET # 15
FOR DIFFERENT GLAZING

/1 7\|3 1/2" MULLION ANCHOR TO STEEL STRUCTURE

\2:_]/ SCALE: FULL

# he

PERMASTEELISA
NORTH AMERICA

7933 NMW, 71st Street; Miami, FL 33166
Phone (305} 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(| Core chodtoasea
o1/0(/09

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 21 OF 34




FACE OF

ST.BM. T

INSULATION MULLION

WRAP AS REQD

I
)
I
I
| ] -1
o \ @
o, _dllrzsillie =g
23 /
€ V\ \\\jj// 5 (—
. %
.—\vmvmw» \ N\ 1
M5OI REE /ﬁﬁ : (=
5 N> | E o
5/6'M FILLET WELD %\ PN i | o
I 1/4" LG. (4) PLACES =1 Vg | o 1N &
AT CENTER AND BEHIND NZa [ 2l
BOLT GRS | = e
| \\/\// N - 3
EDGE OF SLAB A
OR STEEL SUPPORT 7] I N o 1
l’ _________ ;),4 ********* //\\A// ~ 1\
SET SCREW NOT REQUIRED 72 e NN )
2k AT BOTTOM ANCHOR Vs Sr@yS o ’\\(:\ L 9
(WINDLOAD ANCHOR) s AN 5
| o KT
T~ 7 S mros X} i >> Y &
T i = O 406 S
TN
CW INSULATION Nl D . N
AS REQD 1 F 23 “5\ \
[Ni5E
i =\ %
Y no L, SNR A
| PRI\ 4 d
, £ AN N B
| %01 o— A3
: . S
; ; = uac N2 !
I i 7 B
+ L et | umzic \\
} I =
i | EXOXE = > W.P.
i : © pd— 2 — O\
! | N\
: \
4,’—6'" 5%"

TO @ muLL

/1 7\ 90° 05. CORNER MULLION ANCHOR TO STEEL STRUCTURE

@ SCALE: 1/2 FUL

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

i

&7/0}/07

7,

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 22 OF 34




r 0.39

UM-506 (8'1G.)
/UM-507 (8'16.)

|

45..

K
ois ]

75

4
(PROJECT TOLERANCE
+ 13401140

UM 504-344" Ig.
ALUMINUM FRAME HOOK WITH

_j‘L___
il

=N
'l 6 1/4"-20x 1/2" CAP SCREW TO PIN
FOR THERMAL AND SEISMIC
LATERAL MOVEMENTS

UM508 ]

ﬁj
[

/17 90° 05. CORNER MULLION ANCHOR TO CONCRETE STRUCTURE

2 3 SCALE: FULL SCALE

ALTERNATE DETAIL
W/ OUT SMALL HORIZ. BULLNOSE

+
i
!

—4

REF. TOP OF SLAB
@ JOB CONDITION

CONCRETE EMBEDMENT
15 PER SIGNED STRUCT.
CALCS ON A PER JOB BASIS

@ oo 790 oove
SIDE ADHESVE T

U505 B85

UM-507 516}

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 5991342

0.39 J—0375 4}2
I r=a— | I i peeyet e
! I m5J’ o AL )
m | i ‘o —
— \\E — 1
g
wl
| E3
|
|
!
| 5]
| =i
- o Lo G
| N\ RO
AT =
- |
L] o
S o
.__‘2'3%

/"2 "\ 90° 05. CORNER MULLION ANCHOR TO STEEL STRUCTURE

ALTERNATE DETAIL
W/ SMALL HORIZ. BULLNOSE DTL

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

PEGLUCT REVISED

ith the Flaride

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(& ere sdwdlonten

or/ojeq

IDRAWINGNO.: PA-UM-LM-07-350

[DATE: 05/20/2005 [SHEET: 23 OF 34




&

UM 501 AL. ANCHOR CL.

SLOTS 3 1/2'x 111167

5/8"11 x 2" LG. FH BOLT (S/3)
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

UM502 LOCK BLOCK.

; G3)1/14'D -20 x1/2" HEX SOCKET
i CAP SCREW STAILESS STL.
i EDGE OF SLAB OR
/ STEEL SUPPORT
—_ = Z
e o
INSULATION MULLION 77 7 e [
WRAF AS REQD S S A /~4| A VA .
YD NN Ny / 2L
’ AN //\\ 7N /A\ }//\\ /A 71\ //\ £ z s
S SO BN ST o . (4151729
! N 7 i
BACK OF MULL ! ~ S RaNP L . J
T ni

ANCHOR BLOCK, TO BE —————~ ]
BED IN SEALANT

4" THK. CW90

| T
] 1
(TYPICAL) ] ; """ INSULATION (REF. ONLY}
! ]
CW INSULATION 4 ] C
AS REQD j - bt v o :
RIS o 1 Ly T
3 | I/ [ - m: | )
= i =] ) | ' I3
3 j-—1 - 1= H : LI I
! L " |
- ! 7 it
@HDR bt a [ )
< 4
g 3 U—'
e
N
|
|
O T - EMUTT
N/ N |
AN s, N ‘
/ 2 - & UMIO1 M4 12 /:—\1(\ d !
. 1= 7l TS
/ AN N
. | oMs0d ¥ N\ ra &
/Q | E‘ 70 |
’ | [ NN ||
7 { v v |
GANVANIN L] I
[ NN |
| T T
| i,
| : F ( 'z
| | 1
2L
b 7 H
(41 12y

/" 17\ 90° 15. CORNER MULLION ANCHOR TO STEEL STRUCTURE

\\ZU SCALE: 12 FUL

UMS501

SLOTS 3 1/2'%t /16"

UM502 BLOCK

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phane (305) 592-1212  Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

YCT REVISED
with the Floride

flag
&

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

o7/a/o7

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 24 OF 34




T R R

I+ H
[CTO]
b

HAT
HiH
INEN
A H =
INENEEN
HrH+
RN
IR
HEEE
InENE.
i 4+

O To/a
4 H =
T
H+H+

CW INSULATION
& MULLION WRAP
A5 REQD.

UMAM140-01
12" X 6" LG STL PLATE
{47 LG)

UMAM I 41-01

ot

O TTTT

i TG STCPIATE
{8" LG}

5/16* FILLET WELDS
4" LG BEHIND HOLES

R iy
Tl

-

0y

R
. p

N N NN DS S

A+
T

2 PLACES-CENTERED
L 5/16" FILLET WELDS
11416
4 PLACES / \_
A
UMAM 1 35-01
N 2" LG FLARE BEVEL WELDS 2% 2 X 14" STLTUBE

4 PLACES-AT EDGES SHOP WELDED

l

l

|

I
7/

|

|

|

|

f
T

/1

P

= EaES

UMOO4

/"1 "\ MULLION BRACE DETAIL
QS/ SCALE: 12 FULL (OPTIONAL)

ALTERNATE DETAIL

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342

/2 "\ DETAIL AT 3-1/2" HEAVY DUTY MULLION

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

25

SCALE: 1/2 FULL

ALTERNATE DETAIL

(OPTIONAL)

DADE COUNTY STAMP:

VIGED
1h $he Flaride

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(Gocwsedobinion

orforfoq

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 25 OF 34




" . : &
e e = —y 32 I 0
w5 = |
e o f wf® } g ! 2
X o 1 =z | -3
! : g
| 3 | | s
| o 3
| | E 2
] =z I~ & 5 W
l o | j 3
: iy el bt PERMASTEELISA
¢ ! o R %% — | z NORTH AMERICA
| | ‘ ] 3 L =2 %
| L1 7 S =
| : : y by 7933 NW, 71st Street: Miami, FL 33166
| | = .3 ©, Phone (305) 592-1212  Fax (305) 5991342
| | F : - — n 22 =z
I T - o ] []Q - _ _ _ e O . 33¥8¢
= L gw L o E gs 23z%s
! ’ o 2y z gr 35588
_ = <l ) “5'" Q 23 3'%(8;
2 3 ) =8 © g% proge
3 — s 5 33 £8 25y3f REVISIONS
_ _ ~ - e b l il 33 Rgdb3
=Y —— =7 4Bgoh >
S 77 s gbgsl >
s Nt A | | e & = L0 s
- ® 5 & &3 7
_ g 5
n T a‘\z-\— ___________________________________________ I N _ - S
— T T T T =1 € |
————————————————————————— LA L L LTI - ’
! [ I [ ‘ i1 T 7 72777l 2 2 T T 5
’ | | ! ] ! N (AT 27 LI 77 772777777777 20 L2 T T TT T
b | ! ! I e 1 1 el R T T T 77 77 o e B o T
| e T T T T T e T LT T T 777 7777, a4 7 R 7 - 2
___Hiiiwv];—‘—_.i—____’:—___—:[____i—W | 4 U’E’ _______ — e T %%%%%% ) 062608 CHANGE COMPANY NAME A
| t ! | I [ 77 ST T T e — RVE DATE NOTES By
""“:h"l‘Ir"‘:*"”:'"’:““ﬂ:‘ﬂ | ‘] - B PRODUCT:
N 7 || 2 |
[N
I — b b A ] — — a %0
TV T Y ) g | UM CW SYSTEM
L B T e | | g 2 }
e 1y |
o Sy | K LARGE MISSILE
¢ - e et e - - - - - - - - - - - - - - - - - - - Fe - —
1 I}n Lo e ]‘ ird . | PREGLAZED & UNITIZED
|
| | | | | | E
oo S S I AN SR M I
1| WG I I | O S A |
] { i ot i i A R T |
=0 I S T TR SV SR RN P
I s g | DADE COUNTY STAMP:
® I | I I I I ~ ) N
| e e R N E ]
s SS
= ! | I ' ! P® COHEN Y e T T T CESSSSSSSISSISSISSSSSSSISS K L
; N B R : £ = WWWWWW%WWI/MI/I/
' NI el i R SRNNRURANNNRNLSNRUNNNA DD |
“‘I*E-——ﬂ:————-:r—'—‘i————i—_; O R S oo d P 2L TL LTl g
| | | | | &
L ! L b L I %\ I e 1 | U - -
| = L Jﬁ
=k0 § "
;8 E 2
E : 29
i - _ - o1z = A 2 opEt ENGINEER STAMP:
[ALN
Tg o e o CONRADO S. CASEM, P.E.
132 2 = FLORIDA P.E.#: 55248
e 9 o
h o | B Iy -
P []c,
J T ° —1
/ | o % N- -~
> 22¥ E l i Ero Je
g P 9 ° /1 "\ LONG VERTICAL FIN DETAIL
mlrw | -
55 vig | ! ?@ g N2 /™ (orTionAy -
29 L L > ( {/Q ’
bk X | LA fodded e,
© © | o7/01)09
|
i
|
|

DRAWING NO.: PA-UM-LM-07-350

DATE:  05/20/2005 SHEET: 260F 34




. - I ; . . . . .
| i | i i ]
| Lodn bommbomoboe oY
I gl /9 I —— (1
i 1
I I 4 :; 9 i i I I W
> i R Sl Sttt | Ryl
4 | r{; .
| W i ' | I AL:
Go— N Ll A R V] EOPRENE AIR SEAL
G AE - dAa d ;- aad ;s T E d G G dd i dEI TSl LR R LLRLLRLTR L LSRR LR s s L we s wewes sy il I — ASKET (TPICAL
BRI B : R R e R e R R P RSN, | EERRE ol EEAe i = e
vvvvv == i e &
(3} 1/8" BREAK FORMED ALUMINUM N i Il {4 s
STIFFENERS WITH 3/1 6" X 3/8" Lo SR (R i
NORTON V2100 ONE SIDE ADHESIVE ¥ NoLL-dy 4 /Y301 (REF. ONLY
o TAPE AND SHOP APPLIED DC 795 ” M € ! ==l
RGID PVC SILICONE SEALANT AT 36 1/2' O.C. 25 ) i L] § LBy TERIOR TRIM
COMPRESSION AND™™ ™ ; TR AT AS REQD
SOUND DEADENING 3 (TN l
SPACER A Il i :
- i | 0 s BTTM. OF MULL.
1/8 TK ALUM CAP AT TOP !
o OF VERTICAL FEATURE BOTTOM OF VERTICAL H L =) fl
z I 1 Y
I g / T W
———/% —————— -~ e ity 4——}:&&L\A‘—T\—‘“
) ((
7. ST et NI —— R T, ——————— e S —
3 %‘c%\ R AR HR R T P T R R R N AR R D R e RSN
| FHRIITIF ST IIFIITIIFITITITIP TP I FITIFIFIFITITFF P TITIIITIFIFIIFITIFFTITZTTI T T I IR FIFFT e
S O - R A U e e e e e e —————— o — - —_—— QM il 1 =
r (——] ’ | ' %-—T T N TOW’O M op oF ML
z %% G THK. | 1/2°x | 1/2"x 2 " LG. REF N d PaN '
8 @\% AL. LIFTING # STABILIZATION ANGEL TOP OF VERTICAL : | : 5 - u/ggo’a ©1s)
i N
] At j ) Rz, SPUCE ) 2" THICK CW90
AN I l | H | ¢ N . MULLION WRAP
| i » e N,
¢ [N s CW INSULATION
/1 "\ LONG VERTICAL FIN DETAIL @ STACK JT. Y N TN
SCALE: FULL
316" ALUM.——] \2_7/ : H : ¥ /\\ y
FORMED PANEL ¥ ’ <
[l ]’ N s
[ X |
NTEEY ¢
I
at v XINSULAT!ON
m MULLION WRAP
AlWmi [ r"7T "1 T REQD
/18
/1R
JINs
AR
h1 ¥
A
A
Y
| ¥
£
5
V]
o e A T
e swcone [
BITE W
11 ¥

I

3

2=
1/8" ALUMINUM SHEET WITH

ALODINE FINISH ATTACHED WITH
#12 X 1/2°5/5 PPH SMS @ 9" O.C.

STRUCTURAL SILICONE,

SILICONE SPACER
GASKET (TYPICAL)

SN IFEXTX®™S

/2 "\ INTERMEDIATE PANEL TO PANEL

\zy SCAE: 1= 10 (OPTIONAL)

Phone (305) 592-

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miomi, FL 33166

1212 Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

Bivisign

(

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

| beinadedtoaion,
QUMWb?

IDRAWING NO.:

PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 27 OF 34




SLOTS 3 12" x 1 1/16"

—

5/8"-11 x 2" LG. Fit BOLT (5/5)

W/ LOCK WASHER

ONA 3" LONG LOCK BLOCK.

/— UM B 2-3 LOCK BLOCK.

114'0 -20 x1/2" HEX SOCKET
///_. CAP SCREW STAILESS STL.
EDGE OF 5LAB OR
/ STEEL SUPPORT

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS

7 ®2%0 GHANGE COMPANY NAME L]

RVE DATE NOTES BY

%JL INSULATION MULLION

L—"" WRAP AS REQD

(+/-1 129

1
o

+
ANCHOR BLOCK TO BE |

NIEEEN

oY

T I
1

|

Cw INSULATION
AS REQD

R P Leodec

tnz_

r o

[l

o

- o

FOR BALANCE OF DTL. SEE SHEET 26 ¢ 27

MuLL

/1 "\ VERTICAL FIN MULLION ANCHOR TO STEEL STRUCTURE

PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

@ SCAE L (OPTIONAL)

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

(L penaduttberen—s

072 29

DRAWING NO.: PA-UM-LM-07-350

DATE:  05/20/2005 SHEET: 280F 34




PERMASTEELISA
NORTH AMERICA

EXTRUDED ALUM.
ANCHOR TEE BRACKET |

103 5 B e—r 5L 7933 N.W, 71st Street; Miomi, FL 33166
Phone (305) 592-1212  Fax (305) 599-1342
CW INSULATION
AS REQD
916" LAMINATED
REVISIONS
SILICONE SPACER
GASKET (TYPICAL) ;
FIELD INSTALLED
1/8" THK BY 2" WIDE ® 2
4" X 4" ALUMINUM PLATE
TO LOCK SUNSCREEN AT \ UM205 INSULATION MULLION ,
THE 0.5. 90° CORNER ALUMINUM FIN B) WRAP A5 REGD z
SETTING BLOCKS SET IN 2
SILICONE AT |/4 POINTS 3
(2] FASTENERS
EACH SIDE _] i :
OF PLATE GLASS
q UM 208 5 ReF. o 3
FROM END CAP N EXTRUDED ALUM. Q 3
HEN REQ.) M[ﬂ ANCHOR TEE BRACKET | b
= 1 06-26-09 CHANGE COMPANY NAME AG
@ RV# DATE NOTES ay
\3/ ~— X — i PRODUCT:
N A A NV
L UM CW SYSTEM
R |
TYPE 304 ST. STL. ALIGNMENT PIN \
(GF-974) - SHOP INSTALL WITH THE &
KNURLS INSERTED INTQ THE LEFT HEX KEY SCREW AT (o) LARGE MISSILE
END OF THE SUN SHADE - DRIVE THE 1 FROM EACH END
KNURLS ACROSS THE 3/8" GAP INTO s, | PREGLAZED & UNITIZE D
RIGHT END OF THE ADJACENT SUN G o \
SHADE DURING FIELD INSTALLATION '
|
I L 6'16, LOCK
I 5/16" INSULATED I BLOCK
LAMINATED GLASS o -
(o ! DADE COUNTY STAMP:
x
VERTICAL COVERS : |
@ BULLNOSE | : CT REVISED
I | with the Floridy
' :
/"1 "\ INTERMEDIATE HORIZ.DETAIL W SPECIAL SUN SHADE
lr\\ ) @ SCALE: FULL (OPTIONAL)
[
I
|
!
[ I
I UM 208
|
i
|

ENGINEER STAMP:
3" SYSTEM OR

¥ SYTEM CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

7 P

e
— e L

E

ke

F.Z? 1L¢ / )
@7/ o1fo]

[ 2 INTERMEDIATE VERTICAL DETAIL W SPECIAL SUN SHADE
29 e (OPTIONAL)

e ——

[

DRAWING NO.: PA-UM-LM-07-350

DATE: 05/20/2005 |SHEET: 29 OF 34




x

v

N

1A

UM 501 AL. ANCHOR CL.

SLOTS 3 1/2°x 11716".

5/8™1 1 x 2" LG. FH BOLT (5/5)
W/ LOCK WASHER
ONA 3" LONG LOCK BLOCK.

UM502 LOCK BLOCK.

NS
@4:220 x1/2" HEX S0CKET
T CAP SCREW STAILESS STL.
Wy o
f Pal
<
2k
2
(h-1 172 d_@ 4 .
J UM503 a4 P
<
( . <
e 4 A
<
N A4

1/8" THK. SPACER CHANNEL —/

FASTENED TO MULL
@ SPANDREL AREA

(@)riGip Pvc THERMAL—]
SEPARATER AND
SOUND DEADENER

(S—

@ SHOP SEAL

L—"""""" AT STAK JOINT

4 4
7
@8t
4
<
| 4
<
4
<
2 )
<
4
4 a4
<

4
<

" AIR AND WATER SEAL SILICONE FAD

m JAMD DETAIL AT MULLION W/O CAP

NG

SCALE:

FULL

ALTERNATE DETAIL

FACE OF WALL
PORTLAND CEMENT
PLASTER

EDGE OF SLAB
OR STL. SUPPORT

\

DRYWALL ¢ FRAMING

INTERIOR SILL TRIM BY OTHE I S
AS REQUIRE . : " .
| | . T
[ ’ :
o= R UM302 ||° - -
f! P
! -
il [
! Lo
|l P
! [ P
|l [ P
/| ISR e
! L R
(| 1Lz .
il I f I
|l [ [
| F I
|l [ If,
1l . L
! (I |
I: l',- | < g
| Pl h
|: I : N 4 A
I~ N
!t Lo N <
! .
I o
:' |_74)_7_7| A 4 v
Yl N 4
37 umioz  uMmibl 7 7N 4 A

4 :
53 .
<, & a 4
AAD4, 1 {1 7'LG) ABOVE ANCHO!
Nl a4 Ry

AAO48-02{1 Q'LG) BELOW ANCHOR

1/8" THK. SPACER CHANNEL /
FASTENED TO MULL
@ SPANDREL AREA

AIR AND WATER éEAL SILICONE PAD

|7 ATSTACK JOINT'

o

DA

[G—0MZ08 g

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fax (305) 599-1342

<
__________ _ /_C UMZ203 b ) ) .
o—/ L o .
L a4 AA
e 7y 3L ’ a4 Z
o 8 8 .. q
@x100c Gh— } ) g
3 te ’ .
UM203 @ INTERM
L
" Te t
UM202@ INTERM UMZ203@STACK JT
Lo

umz0I— i

FACE OF WALL
PORTLAND CEMENT
PLASTER

/"2 "\ JAVB DETAIL @ MULLION W/ CAP

w SCALE: FULL

REVISIONS
>
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

07/0//07

IDRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |[SHEET: 30 OF 34




L
, 5, 1 7.
7¥ I 57
[ |
| 5/1 6" INSULATING | | |
LAMINATED GLASS /@) l | |
\ / L UMOO | |
& U AT Fh {
e 13, I /@ 1* REF.
I3
| 25
e ic 1
0 e ]
o ) # : ¥
Q — = ot H 1
z g ? 3
BOTTOM OF g \ ! o
o VERTICAL TRIM 2 SMS SCREW 2 3 2 § x 4 HIGH IMPACT
3 5 [l pLasTic sHiM @ MuLLiON
| o _ _ — - 235 __UMo03 B E (SET IN SILICONB)
DRAIN s o
16" THK. ALUMINUM &' LONG £.0.GLASS A <-
@ 2-6" 0.C. PAINTED WITH
BITUMINOUS AT FACE OF CONC. TRGOE 'U'—_——j @g& + $ TO SLAB
T 1 &
<7 - pal '
— 4 . . < Pa) 4
SMS SCREW 300 SERIES i } 4 T obe 2k
STST. CONT. [i/8" THK. ALUMINUM f 4" REF. Py 4 . < .
g o A M pa) A <7 4
4 4 9 L, :
< N <
T \—1/4'D TAPCOMSCREWS 4 4 L—M
E pal
: & . (2) 2 KWK BOLT
4 @ __0.C. @ MULLON A
FLASHING As\z{é g . <
REQUIRED . < : 4
(BY OTHERS) 4 . g A
¢ TO REF. F.O. GLASS 4 <
4 S %a A < g
<
Aﬂ

/1 "\ TYPICAL STARTER SILL DETAIL

31

SCALE: FULL

ALTERNATE DETAIL

PERMASTEELISA
NORTH AMERICA

7933 NW, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS

10

9

D)

7

5

3

£

3

Z

1 06-26-09 CHANGE COMPANY NAME AG
RV DATE NOTES BY
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:
UCT REVISED

with the Flaride

- 4!0'
A S

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

G e loeiciom

o7/01)07

IDRAWINGNO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 31 OF 34




SILICONE SETTING

BLOCKS SET IN SILICONE
AT 174 POINTS

174" X 1" PRESSURE

EQUALIZATION

SLOTS AT 1/4 POINTS

(TYPICAL)
ELEV.+ 41-0-3/4" 4
N 4

114" x 1/2" 5/5 SOCKET HEAD CAF SCREW
LOCATED 8" FROM THE LEFT END OF THE
STACK JOINT HORIZONTAL GUTTER - LOCK

INTO A SLOT IN THE SILL HORIZONTAL
TO ALIGN FRAMES

NEOPRENE AIR SEAL
GASKET (TYPICAL}

INTERIOR SILL TRIM

AT JOINT APPLY
DC123 TAPE
SET IN SEALANT

el

G

aln

A5 REQUIRED

UMFS- 106, UMF5-80, UMFS-81
FIELD DRilL SEAL HEADS

w
i

1/4"@® WEEP HOLES /
AT /4 POINTS (TYPICAL)

(E S) UMOO2

NOTCH HORZ. UMQO2

1#

SUBSILL ASSEMBLY

AT BRACKET LOCATIONS

& T.0. CURB
\'
. a
4 a <
FIELD SEAL a 4 A
CONT. BUTYL
SEALANT- < 941 /2* THK.BENT
4 /5TL BRACKET @ § MULLION
< A ]
4
4. 2 T4
<7 4 A 4" MiN.
<7 ) 4
<
4
) 4
<
<7
. 4
FLASHING MEMBRANE
BY OTHERS i

< 4

pal A < 4 g
4
4 4 /
I Pa)

/1 "\ STARTER SILL DETAIL ON CONCRETE CURB

Qg/ SCALE: FULL SCALE

ALTERNATE DETAIL

(2} 5/8@ HVA-HAS & HAS-E

5/8 HILTI ANCHOR.

MIN. DEPTH OF EMBEDMENT=5"
UMFS-083, UMFS- 104
UMFS-105

=
UMFS-106, 080, 081 |
: FIELD DRILL, SEAL HEADS |

NOTCH TO CLEAR
ANCHOR CLIP

2

e,
\@\
STRUCTURAL STEEL SUPPORT

STEEL TUBE SHOWN

X

211 x | ¥ HHBOLT
5/5 - WITH FW AND LW =N o
DRILL AND TAP HOLE

IN STEEL TUBE H H
UMF5-083 1
UMFS-097
UMFS-107

FLASHING MEMBRANE

5

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 5921212 Fox (305) 599-1342

BY OTHERS

96" 1/2" THR.x 12" LG,
STL BENT ANGLE

S

N

/2 "\ STARTER SILL DETAIL ON STEEL STRUCTURE

\3-2/ SCALE: FULL SCALE

ALTERNATE DETAIL

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:
PROGDUCT REVISED
s compiyleg with the Floride

= Code

Erivisifen

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

[ Cwiadaltoarea—

0‘2/0//07

IDRAWINGNO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 32 OF 34




FIELD SEAL DC-795
4 BACKER ROD

SHOP SEAL - SILICONE -/
AND BACKER ROD

RS

m COPING DETAIL WITH PARAPET WALL

3 3 SCALE: FULL SCALE

ALTERNATE DETAIL

r2pr
& Fomf‘ézﬁsszj
N
/ 77
NN N [ O [ ]
- AN NN [NRNY (
1 p R NN N2 8
-
Ve CONT. DOW CORNING -
o . TaPE 7
7 WOOD BLOCKING AS REQ'D -
;: UMAAOS! -
BRK MTL CONT. - L
] R :
- 1t -7
- UMAA0B2 111V P
iy -
(5D oc ||c|ﬁ ]
SEAL SCREW HD ""r) -
|||lr) -
ONCie 2]
> O A
E’é/—;\ / X %\: i
=N N/ Kzéfmu N
N SN [0 1/ @SET .
LA N/ Ny > N IN SILTCONE 13
VO NN O g
\ LTV
° |< : X >(\ 7N /] Liltiv
Srve, | >( N/ X | \Illllp
AN ol g
l< : e >W CONTRACTORS NOTE:
PARAPET
| 14 N/ N\ Z 1 \I [N l? CURTAIENWSA[LiDFvgﬁhlESfTTgOBOEF IEE?"ANI?LED
| ><| X >< | (RN (I AFTER CURTAINWALL IN PLACE TO ENSURE
! N AN N /||Hl(l PROPER HEIGHT AS DETAILED.
| Voo X X N/ K “Illﬁ
I’\ l/ N yz PITUERA s7eer sTUD W/ BATT INSULATION
| N/ I AND SHEATING PARAPET BEHIND CW FRAME
| E/%;\ 2N = \: /HHH;“ASREOUIRED
/N
| N : < >(\ SN A K ::H:H ROOFING MEMBRANE (BY OTHERS)
. X OKC > i
I | N NI I
| C ok XD o
ANP 2NN N N
| OSSOSO
' V |% y N k< |I|l|?
’\ | /N I |||l|(l
| AT SN /) N
IX! A X X /||||1(1
i LT i
i N |/< >\ VAN />< %
%.,
l_'%" _t b 6% CW INSULATION AS REQ'D
-

/2 "\ COPING DETAIL W/O PARAPET WALL

\\3y SCALE: FULL SCALE
ALTERNATE DETAIL

PAINTED ALUM
BACK PANEL

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (303) 5921212 Fax (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

" |
|_Coseeed odbaion—
01/0if09

IDRAWINGNO.: PA-UM-LM-07-350

IDATE: 05/20/2005 [SHEET: 33 OF 34




(2) 1/2 HILTI KWIK-BOLT @ 5" O.C. MIN

4 N _ 4 = 4 boor
a b A & a B> a oS > 4
’ N A4 b LY D DN a N
4 v N : ~ 4 , N SN [N 4
b A N ) BOTTOM OF CONC. N : A N
[N 4 N ) BEAM OR SLAB - A | |
4 A [ | | [N 4
B A D N D | ] N
— - — — —N ; == ST I BOTTOM OF BEAM
N - N 7 N - A CONT. DC 5 e =N |
AN / AN / AN / AN 123 TAPE
/ :#J UM502
o/ \ Vo \
{ 2k IR
l REF
/ \ DC 123 TAPE
@ MULL JOINT
/ \

AN
/

T Az

BATT IN5ULATION/

(BY OTHERS)

\
\ /
\ /

//] l\\

\
\
\

/ \

\\l l//

NOTE:

SOFFIT SYSTEM (BY OTHERS) SHALL

BE DESIGNED TO WITHSTAND THE DESIGN
LOADS AND ANY IMPACT BY SPECIALTY
ENGINEER REGISTERED IN THE STATE OF
FLORIDA. CONTRACTOR TO SUBMIT
APPROVED DRAWINGS UNDER SEPARATE
COVER.

MODULE UNEl

062 PRE-PAINTED ALUM.
\ CLOSURE FANELX

CURTAINWAL INSULATION
AS REQUIRED | |

N

2

/ \
/ \

I
I
|

©

)il r A g

LUV
ANGLE CLIP

\ ey
\ 4" DRILL FLEX

UM 504-10" LG.
ALUMINUM FRAME HOOK WITH

FOR THERMAL AND SEISMIC
LATERAL MOVEMENTS

(et

7777

______._‘w7\m\__.._.___

OBO

TOP OF<T

VERT TRIM

i

f——— NI~

(

NI

e

10°0

.G

UmM203

\OPTIONAL TEMP. SET SCREW

WHICH MUST BE BACKED
DOWN #" MIN. FOR L.L. DEFLECTION

—

11, SILICONE
I BITE
N

ET UM20
SILICON

1 5/16" INSULATING

o

y

N
i

UMOO05

LAMINATED GLASS

$TOP OF HORIZ.

/1 "\ DETAL @ TOP ANCHOR

34 JNETUL(OPTIONAL)
ALTERNATE DETAIL

WITH FLAT WASHER AND NUT
ON A 3" LONG LOCK BLOCK,
25" EMBEDMENT MIN.

1/4"-20x /2" CAP SCREW TO PIN

PERMASTEELISA
NORTH AMERICA

7933 N.W, 71st Street; Miami, FL 33166
Phone (305) 592-1212  Fox (305) 599-1342

REVISIONS
PRODUCT:

UM CW SYSTEM

LARGE MISSILE
PREGLAZED & UNITIZED

DADE COUNTY STAMP:
T BEVISED

gﬂ&u

7’1 A
Yade Prod

ENGINEER STAMP:

CONRADO S. CASEM, P.E.
FLORIDA P.E.#: 55248

( Quuecdodbareom,

07/0//}97

|[PRAWING NO.: PA-UM-LM-07-350

IDATE: 05/20/2005 |SHEET: 34 OF 34




